UGC NET 2022 COMMERCE SH2

Topic:- 8_11_SH1_PARTA_S1

1) Which one of the following theories describes FDI flows in ecosystems?

SEE 99 B UF 2 A2 UaTE Fi S v HEieigd § 8 R a9 Ega 27
[Question ID = 2336][Question Description = 101_08_Commerce_SEPT22_QO01]
1. Produet Life Cvele Theory

[Option ID = 9341]
2. Faector Endowment Theory

FF—THE G

[Option ID = 9342]
3. Waterfall Theory

A2 - g

[Option ID = 9343]
4. New Trade Theory

[Option ID = 9344]

2) YWhich one of the following is a Trade related entry mode in international markets?
Trfahgs § 9 Fi FagE s § s Se wEw # A= 27
[Question ID = 2337][Question Description = 102_08_Commerce_SEPT22_Q02]
1. Management Contract
WA W

[Option ID = 9345]
2. International Licensing

[Option ID = 9346]
3. Imternational Leasing

[Option ID = 9347]
4. Portfolio Investments

[Option ID = 9348]

3) “If you know the enemy and know vourself. vou nieed not fear the result of a hundred battles”

Above statement of Sun Tzu corresponds to which one of the following components of Porter's
Five Forces Model?
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[Question ID = 2338][Question Description = 103_08_Commerce_SEPT22_Q03]

1. Threat of substitutes

[Option ID = 9349]
2. Threat of Competitor

I Eer e o

[Option ID = 9350]
3. Bargain Power of Supplier

ATYfeel 1 ATt
[Option ID = 9351]
4. Threat of New Entrants
0 TSR] 9
[Option ID = 9352]
4) A spot sale of a currency combined with a forward repurchaze of the same currency
iz called which one of the following?
Tt o i =i fht s ma T O A AT e T AT § 8w w5 e A v

[Question ID = 2339][Question Description = 104_08_Commerce_SEPT22_Q04]

1. Farex swap

Tamsl ggr sAme—sEE]

[Option ID = 9353]
2. Swap rate

= i B et

[Option ID = 9354]
3. Forward rate

IR it

[Option ID = 9355]
4. Spot rate

Ll e

[Option ID = 9356]
5) Break-sven point is not affected with the chanhges in which one of the following?
T F o T o Oftads O OaeA- fag watEe 78w e

[Question ID = 2340][Question Description = 105_08_Commerce_SEPT22_QO05]
1. Sale price per unit

[Option ID = 9357]
2. Variable cost per unit



[Option ID = 9358]
3. Number of units sold

[Option ID = 9359]
4. Total fixed costs

[Option ID = 9360]

6) Answer the correct material usage variance from the information given below :

Standard material cost for manufacturing 1000 units of an output iz 400 kgs of material
at Bs. 2,50 per kz. When 2000 unitz are produced. it is found that actual consumption was of
825 kes material at-a price of Rs. 2.70 per kg. :
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[Question ID = 2341][Question Description = 106_08_Commerce_SEPT22_Q06]

1. Rs. G7.50 Favourable
67.50 #9 FIFA

[Option ID = 9361]
2. Rs. 6750 Adverse

e = £
67.50 797 WHES

[Option ID = 9362]
3. Rs. 62.50 Favourable

62.50 ¥ FFE

[Option ID = 9363]
4. Rs. 62.50 Adverse

62,50 T TEF

[Option ID = 9364]

7)  In Fund Flow Statement. which one of the following iz nét a valid statement?

g A o § foteaiEs § 5 9 9 TF 99 Fu9 96 2 0

[Question ID = 2342][Question Description = 107_08_Commerce_SEPT22_Q07]
1. Tt is prepared to know the total sources and their uzes in a year.

= wF T H F [ AwW AT S T S e S e

[Option ID = 9365]

2. Dividend received is a source of funds.

TH I Al F TF = A 2

[Option ID = 9366]



3. Tis preparation is at the discretion of the management.
TH TIW AT TEEA ] ST |
[Option ID = 9367]
4. Tt 1s useful for external financial management.
% WT=g o TEEA F Ten It |
[Option ID = 9368]

8) Written plan containing the details regarding the conduct of a particular audit is ealled:
U Wl A I F 9= % H@E9 § 99 790 A e 9 w6 Heengd § 3 F EA
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[Question ID = 2343][Question Description = 108_08_Commerce_SEPT22_Q08]

1. Audit Memorandum

[Option ID = 9369]
2. Aydit Planning Procedure

r.-.. TIﬁETI r -.H - b~ i

[Option ID = 9370]
3. Audit Notebook

[Option ID = 9371]
4. Audit Programme

[Option ID = 9372]

=

9) Total revenue of a business firin increases as long as :

[Question ID = 2344][Question Description = 109_08_Commerce_SEPT22_Q09]
- |Ep| >1

[Option ID = 9373]
2 |Ep|=1

[Option ID = 9374]
3. |Ep| =1

[Option ID = 9375]
4 |Ep|l<0

[Option ID = 9376]

10)  The pricing practice to extract all of the consumer surplus from consumers to maximize the
total revenue and profits from the sale of a particular guantity of product 1s called :
I Fi TF T O F R 9 T 9 6R S o AieEes ¥ v e | F ITEE
[Question ID = 2345][Question Description = 110_08_Commerce_SEPT22_Q10]
1. First-degree price digcrimination



[Option ID = 9377]
2. Second-degree price diserimination

[Option ID = 9378]
3. Third-degree price diserimination

[Option ID = 9379]
4. Penetration pricing

[Option ID = 9380]

11)  Economists” adjustment to reality limited by individual consumers” preferences. intellizence
and environmental factors 1z called :

'3'1.‘_1%:

[Question ID = 2346][Question Description = 111_08_Commerce_SEPT22_Q11]
1. Rationality

=

—
[Option ID = 9381]
2. Homo ECOEG]IIj.CuS

[Option ID = 9382]
3. Bounded rationahty

qiEg (WEes) AilaFdl

[Option ID = 9383]
4. Consumer sovereignity

[Option ID = 9384]
12) When a monopolist switches from charging a single price to perfect price discrimination. it
reduces:
8 TF TSN A Tk 5o B GiEg §eF TaHE R AW S 7 A, T PhEE R 27
[Question ID = 2347][Question Description = 112_08_Commerce_SEPT22_Q12]
1. The quantity produced
[Option ID = 9385]
2. The firm’s profit

[Option ID = 9386]



3. Consumer surplus

[Option ID = 9387]
4. Total surplus

el AHET

[Option ID = 9388]

13)  Preference share in India is issued by a company for a maximum period of :

UWA § T F9H1 51 SgEH I saFan (Al sEY F e A S 27

[Question ID = 2348][Question Description = 113_08_Commerce_SEPT22_Q13]

1. 10 years

1039

[Option ID = 9389]
2. 15 vears

15 a4

[Option ID = 9390]
3. 20 vears

2099

[Option ID = 9391]
4. Unlimited period

A Aty
[Option ID = 9392]
14)  The current market price per share of New Age Limited is Rs. 80. The dividend expected a

vear from now is Rs. 4 and it i1s expected to grow at a constant rate of 10 percent. The

floatation (1ssue) cost for the new 1ssue will be § percent. What 1= the cost of new eqguity?
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[Question ID = 2349][Question Description = 114_08_Commerce_SEPT22_Q14]
1. 15.43 percent
15:43 wfazm

[Option ID = 9393]
2. 15.00 percent

15.00 wiAw=

[Option ID = 9394]
3. 5.00 percent

5.00 wiawE

[Option ID = 9395]
4. 5.43 percent



5.43 TEeE

[Option ID = 9396]
15)  From the following. select the right option with reference to the working capital:

[Question ID = 2350][Question Description = 115_08_Commerce_SEPT22_Q15]
1. Higher net working capital leads to higher liquidity and higher profitability

r Fiy T 3 5 3
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[Option ID = 9397] _
7 According to hedging approach. current assets should be financed from long-term
sourees,

TIeRAT IO FOSAEE, TAAH A S S | | e =90 |

[Option ID = 9398]
There 1z an mverse relationship hetween the length of operating cycle of a firm and its

3.
working capital requirements.
Tl T F TEeE W F oAn 0 SR e g i SAEeEae F s T JEg
.

[Option ID = 9399]
Trade-off plan. in general. 12 considered an appropriate financing strategy for working

capital.
T =9 H WESA-FA] T1 0 FHE JAT w1 SHEE (AT T S e e

[Option ID = 9400]

16)  Banker sale of a mortgage portfolio by setting up a mortzage pass-through securities is an

example of :
FF A (W Y) TAGIE AT G AT TR i ] e ienEs § 5 e e 2
[Question ID = 2351][Question Description = 116_08_Commerce_SEPT22_Q16]
1. Credit enhancement
[Option ID = 9401]
2. Unbundling
Ta—as= T

[Option ID = 9402]
3. Derivatives
cane

AT (SR )

=

[Option ID = 9403]
4. Securitization

[Option ID = 9404]

17) In a statistical experiment. an effect size is described as:



TR T TTEERE WA B WA F SR S e EeE e
[Question ID = 2352][Question Description = 117_08_Commerce_SEPT22_Q17]
1. Effective testing of hypothesis

[Option ID = 9405] _
2. Probable success of an experimental manipulation

[Option ID = 9406]
3.  Quantitative measurement of the magnitide of the experimental effect

[Option ID = 9407]
4. Standardised measure of the magnitude of the effect observed in an experiment

Tl W B YEEE TS AT B AR A

[Option ID = 9408]

18)  Which one of the following is not an assumption of simple linear regression model?
FetaiEd 5§ wE-H 97 S EE T 2ieE i TR A Y

[Question ID = 2353][Question Description = 118_08_Commerce_SEPT22_Q18]
1. The set of expected values of the dependent variable ¥ for siven values of independent
variable x. are normally distributed.

WA S ox h B0 OHF O Wge WA =y F SIS 9 % D2 R STEEeEAr sied e
Einin A

[Option ID = 9409]

The standard deviation and variance of expected values of the dependent variable

2. about the regression line are constant for all values of the independent variable x for
the set of ohservations in a sample.
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[Option ID = 9410]
3. The dependent variable vis a continuous random variable.

MiA =1 y U Hed AGesh = 2 |

T
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[Option ID = 9411]
4. The ervors in the value of ¥ are identical in succsssive observations.

¥ F W § A ATEEE TEO AT w5 A |

[Option ID = 9412]

19) A co-efficient of correlation having a value of +0.87 implies that -
TEAEY & TN & +0.87 5 WAl = a2

[Question ID = 2354][Question Description = 119_08_Commerce_SEPT22_Q19]

1. Co-efficient of correlation is stvong and positive.
TEFEY N PNF VO A FEEF 7 |

[Option ID = 9413]



2. Co-efficient of determination 1s extremely weak.
TN IR SETSE AN

[Option ID = 9414]
3. The relationship hetween two variables is weak, but positive.

71 =T o "W HHE FAAN T TR |

[Option ID = 9415]
4.  The relationship between two variables 1= strong,

= =9 T TEE TEE 2
[Option ID = 9416]

20) The standard erroris a statistical measure of:

[Question ID = 2355][Question Description = 120_08_Commerce_SEPT22_Q20]
1. The normal diztribution of scores around the sample mean.

YA 1T o TR B SrERT e |

[Option ID = 9417]
2. The extent to which a sample mean is likely to differ from the population mean.

it BIE, SHEEE 5T F T e R

[Option ID = 9418]
3. Theclustering of scores at each end of a survey scale.

T O T F 39 B S0 H 9T |

[Option ID = 9419]
4. The degree to which the sample has been accurately stratified.

T N TE-HE TR SO 54 R |
[Option ID = 9420]
21)  YWhich ane of the following tools is not used for forecasting personnel needs (Labour Demand)
by an organization?
T T2 G IO ATl 1 @HAE FA B HEeEs O 9 T AT S0 A6 G A E
[Question ID = 2356][Question Description = 121_08_Commerce_SEPT22_Q21]
1. Trend Analysis
-H. ~ o

[Option ID = 9421]
2. Markov Analysis

[Option ID = 9422]
3. Ratio Analysis

_mﬁ\_ mfr' '

[Option ID = 9423]
4. Secatter Plot



[Option ID = 9424]
22) Apcording to Herzberg's Two Factor Theory, which one of the following is not a maintenance
factor?
= F TpETE T F AT AEnEs 0 1 FE-0 T S R A6 2
[Question ID = 2357][Question Description = 122_08_Commerce_SEPT22_Q22]
1. Affihation or Acceptance
[Option ID = 9425]
2. Esteem or Status
[Option ID = 9426]
3. Security or Safety
AT FUAT w4

[Option ID = 9427]
4. Phyziological Needs

IHIF HETIFA

[Option ID = 9428]
23) Which one of the following is not an advantage of orzanization structure by territory?

& WA |YEAl F AEenEs § |3 FA - UF 9 T8 2

[Question ID = 2358][Question Description = 123_08_Commerce_SEPT22_Q23]

1. Malkes control easy for top management

[Option ID = 9429]
2. Places responsibility at a lower level

IFTETEE I FE T 9 TEAl

[Option ID = 9430]
3. Improves coordination In a region

T SE-TaEY § AR H ghW A E |

[Option ID = 9431]
4. Takes advantage of economies of local operations

[Option ID = 9432]

24) Which one of the following motives characterizes dominant organizational chimate of umversity

teaching departments/scientific organizations?
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[Question ID = 2359][Question Description = 124_08_Commerce_SEPT22_Q24]
1. Affiliation

TEae

[Option ID = 9433]
2.  Extension
baeaim;

[Option ID = 9434]
3. Expert power

[Option ID = 9435]

4. Achievement

U E)
[Option ID = 9436]

25) The banks wherein a majority of depositors are non-residents are called

[Question ID = 2360][Question Description = 125_08_Commerce_SEPT22_Q25]
1. Cross Payment Banks

[Option ID = 9437]

2.  Cuirency Banks

[Option ID = 9438]

3. Foreign Banks
it O
a5 5Eh
[Option ID = 9439]
4.

Offshore Banks
[Option ID = 9440]

26) Which one of the following is an example of Secondary Reserves?

HefatEs § 8 F4 W T SRieE [ F Immm
[Question ID = 2361][Question Description = 126_08_Commerce_SEPT22_Q26]
1. Cash in hand and balances with other banks In curvent account
TAG T F AH F A T A AT qAE
[Option ID = 9441]

2. Balarces with RBI for CRR



3.

[Option ID = 9442]
Investment in Commercial Paper

' 2 fu-
HTHTE: 9 H 9]

[Option ID = 9443]

4. Imvestment in Government Securities for SLR

TH U S % A0 T AAgEa o e
[Option ID = 9444]

27) Under which one of the following the Basel framework places restrictions on participation by
bhanks in system-wide credit booms with the aim of reducing their losses in credit bust?
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[Question ID = 2362][Question Description = 127_08_Commerce_SEPT22_Q27]
1. Catastrophic Reserve Capital

S e

[Option ID = 9445]
2. Countereyclical Capital Buffer

[Option ID = 9446]
3. Deferred Capital

T T

[Option ID = 9447]
4. Conservative Preference Capital

[Option ID = 9448]

28)  YWhich cne of the following is false with respect to interest rate structure in the Indian meney

market?
Frafafian & & Fr T ST T AR S e 5 S e e 2

[Question ID = 2363][Question Description = 128_08_Commerce_SEPT22_Q28]
A very tight Liquidity position will increase the call rates while excess liquidity will

eive fairly low and stable rates.
UF HfF 77 A ] . w0 ° iy F, S A S qgieEE =9 0 5 s T

[Option ID = 9449]
If the hguidity crunch of the banks is passed on to the system. 1t may lead to high

volatility m the call rates.

2.
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[Option ID = 9450]



;. Call rates under normal liquidity conditions are the cap rate for the term money

market.

A 1 A U % AT Fe 5 S G AT % 0 Seea HE e e E |

[Option ID = 9451]
In a volatile call market situation. lending will vield high retwrn and by selling

Inter-bank participation, the hank will have more money to play in the call market.
TF HoA IaR-=eE Wi R §TA0 G 0 3uUW 59 W = NA% U Al 3 90 A A
EfiErl #1 fsfl T 8% F 719 Fie 790 § a9 F o0 0w S I9ewd 2 |
[Option ID = 9452]
29) Which ane of the following is a myth about rural markets?
TieTEs § H R H= e ST % 80 UF (09 2

[Question ID = 2364][Question Description = 129_08_Commerce_SEPT22_Q29]
1. All villages are not equally populated.

w7l TE TOE T AEE TE R

[Option ID = 9453]
2. Rural buyers are a heterogenous lot.

[Option ID = 9454]
3. Rural buyers are able to discriminate between products and brands.

U T EER 3R A WIS % 55 [gHE #4967

[Option ID = 9455]
4. Only low priced products sell in rural markets,

T FTART # FE FH God 9 3090 o A6 A

[Option ID = 9456]

30) In order to maintain its market share. a market follower can employ :

ST ATAT % T ST WIA % EE § ATAE FAAe (EEE) R e
[Question ID = 2365][Question Description = 130_08_Commerce_SEPT22_Q30]
1. Counter feiting strategy

'{;Ear“] Tu-f:ﬁ-ﬁ

[Option ID = 9457]
2. Bpecialization strategy

TATeTS TR T

[Option ID = 9458]
3. Counter offensive strategy

[Option ID = 9459]
4. Preemptive strategy



r r e i
T (e ) e
[Option ID = 9460]
31) ~Hospital administration may think that patients want hetter food. but patients may be more
concerned with nurse responsiveness”

Above statement pertains to which one of the following service gaps?

AT WA ATEAT T W0E #=g1 GE AEd 7, o wE A8 F AT B AeE qeed o
TFE A TS T
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[Question ID = 2366][Question Description = 131_08_Commerce_SEPT22_Q31]
1. Gap between consumer expectation and management perception.

Y] AT 30 TEeE W9 F 55 HaT|

[Option ID = 9461]
2. Gap between management perception and service-quality specification.

TR WTE H T e [ HE e |

[Option ID = 9462]
3. Gap between service delivery and external communication.

T G ST AT TuA RS SA |

[Option ID = 9463]
4. (Gap between service-quality specifications and service delivery.

TAT U I S T GEET o A S |
[Option ID = 9464]

32) Dimensions of VALS™ framework to include which one of the following?

F oI | FEah § S O w5 A S 7
[Question ID = 2367][Question Description = 132_08_Commerce_SEPT22_Q32]
1. Consumer motivation and consumer resources
FYGTEAT AT 30 SO HEE

[Option ID = 9465]
2. (Consumer personality and consumer resources

[Option ID = 9466]
3. Consumer motivation and consumer preferences

T ARTREY 3 9T aEa

[Option ID = 9467]
4. Consumerneeds and consumer resources

ITHTEET AETAHATN, A ST AETe
[Option ID = 9468]

33) If the subject matter of insurance is the ship. the marine insurance is called:



Itz sie 7 1999 29 Fard 7 A% AdET SE S ©
[Question ID = 2368][Question Description = 133_08_Commerce_SEPT22_Q33]
1. Cargo msurance
SRV O wHE
[Option ID = 9469]
2. Hull insurance
Bkl

[Option ID = 9470]
3. Freight insurance

IST &
[Option ID = 9471]
4. Voyage Insurarce
AT S

[Option ID = 9472]

34) TIn case of a warranty, the buyer ¢an;

ARZ % °EA 9, wA F FEAl

[Question ID = 2369][Question Description = 134_08_Commerce_SEPT22_Q34]
1. Repudiate the contract

Alest & $HW
[Option ID = 9473]
2. (Claim damages only
[Option ID = 9474]
3. Return the goods
[Option ID = 9475]
4. Refuse to pay the price
HTHe SR H
[Option ID = 9476]
35) If the information sought has been supplied by third party or is treated as confidential by that

third party. the third party must =ive a representation before the PIO in reply to the notice
1zsued to it within how manyv davs from the date of receipt of such notica?

=77, WY TS TEA S 9F GET USH i TE 5 $UET S99 9E G 39 TN 9 T A, A 59 04 g
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[Question ID = 2370][Question Description = 135_08_Commerce_SEPT22_Q35]
1. Bdays
-
b T
[Option ID = 9477]
2. 15davs



15 124
[Option ID = 9478]
3. 10 days

10 T
[Option ID = 9479]
4. Tdays
=1
71

[Option ID = 9480]
36) Which one of the following is not valid as per the Limited Liability Partnership Act, 2008 ?

it STiEea |gan SaEE 2008 % AR s § 8 hH-81 U 29 T 7 7

[Question ID = 2371][Question Description = 136_08_Commerce_SEPT22_Q36]
LILP shall maintain its books of accounts on double entry system and on cash or
accrual basis.

S U o 1 TR Y S TR UEi S A A I 0 S W S w2 |

1.

[Option ID = 9481]
2. 1LLP shall prepare a Statement of Account and Solvency for each financial year.

[Option ID = 9482]
3. Every LLP shall file an annual return with the Registrar of Companies

eI UE US U1 9] % TAEE F AR U A1 (2 g i |

[Option ID = 9483]
4. Everv LLP is a separate legal entity independent of 1ts partners,

T U U 91 S HIEEAT ° Fead Uh 99 99 THE 7
[Option ID = 9484]
37) Under the Vivad se Vishwas Act. 2020 the amount payable hy the declarant U/S 3 on or after
January 1. 2021 is:
e @ fawam wiatEm, 2020 = FASTa 90N R 9T gEl 93 % #dE 1 SEi, 2021 5% AT
T o oF T

[Question ID = 2372][Question Description = 137_08_Commerce_SEPT22_Q37]
1. Amount of disputed tax

[Option ID = 9485]
2. The agzregate of the amount of disputed tax and 10% of disputed tax

Taantea =7 =1 e T1eT v e e 10% # a3m

[Option ID = 9486]
3. Amount of penalty and amount computed by CBDT.

i <y T it 3R 2 2 g s

[Option ID = 9487]
4. Average of tax arrears for last three assessment years.



[Option ID = 9488]

38) Presumptive taxation involves which one of the following?
MEa el e 2 e e 2l e e i e 2 e

[Question ID = 2373][Question Description = 138_08_Commerce_SEPT22_Q38]
The use of indirect methods to calculate tax habilityv, which differ firom the usual sales

1.
bhazed on the tax payers accounts.

7 SHAT I TOAT 5 ANCHA AT I9ATT 1, AR FATAl % e W ST W
g =R
[Option ID = 9489]
2. Transfer of tax lability from State to the Centre.
A TAA F A H Fp AT we |

[Option ID = 9490]
3. Caleulation of short term capital gain

[Option ID = 9491]
4. Calculation of rebate U/S 89,
a1 89 % 1A 2 T AT |
[Option ID = 9492]

39) Arym's leneth piice computation method under 92 (C) of the Income Tax Act. 1961 does not
include which one of the following?

AEFT AEEEE, 1961 =1 9/ 92(C) % 98 AT S HEa UiFed UUTE AeEnad 5 d e e T8
Al '—Fm'

[Question ID = 2374][Question Description = 139_08_Commerce_SEPT22_Q39]
1. Comparable uncontrolled price

[Option ID = 9493]
2. Transaction net margin

T (i) Fae e

[Option ID = 9494]
3. Resale price

[Option ID = 9495]
4. Slum sale price method

[Option ID = 9496]

40) Tax holiday under the Income Tax Act 1961 has been used in the context of which one of the
following?

SEF A9EgE, 1961 F S FEF 950 O FaEE w5 ST e e 2



[Question ID = 2375][Question Description = 140_08_Commerce_SEPT22_Q40]
1. Section 80 IA

gms0 aE ©

[Option ID = 9497]
2. Bection 80D

g 80 =

[Option ID = 9498]
3. Seetion S0 CCC

T 80 =Y = H
[Option ID = 9499]
4. Bection 10(5)
grr 10(5)

[Option ID = 9500]

41) \Which of the following factors favour product standardization in the international markets?

(A  High cost of adaptation.

(B)  Vamations in conditions of use.

() Country of origin effect.

(D)  Economiesin R & D.

(E}  Differences in technical standards.

Choose the most appropriate answer from the options given below !

frafetad & & #1 & FwF Fi=g 4= § 3070 A 1 e F A
(A) = F1 F=a o

(B)  FTEM 1 e B At

(C)  FUH-73 TEE

(D)  HIETH S7 g § {Haeaa

(E) @A B T 9

S o T ket | T HAE I S S AT

[Question ID = 2376][Question Description = 141_08_Commerce_SEPT22_Q41]
1. {A) and (E) only

FAE (A) #:T (E)

[Option ID = 9501]
2. (A), (C) and (D) only

A (A). (C) 37 (D)
[Option ID = 9502]
3. (A (B). (C) and (D) only
Faet (A), (B). (C) 37 (D)

[Option ID = 9503]
4. (0yand (D) only



T34 (C) w1 (D)

[Option ID = 9504]

42) Why do Central banks intervene to affect exchange rates?

(A) To influence domestic production

iB)  Toinfluence trade flows

(C)  Toinfluence domestic interest rates
(D)  Toinject Hguidity in domestic markets

(E) To smoothen fluctuations in exchange rates.

Choose the most appropriate answer from the options given below :

Tae 27 = THIEE W S T g 6 e 9 R B
(&) e ST B UNRE e

(B) =W WATE R THIEA FA & e

(D) = ATEE A g T T O F A

(E) T&Fm" =0 4 397-95E & 2% 4 F 0

= Tou T fakedl 9 geE 39 IR0 R 509 it
[Question ID = 2377][Question Description = 142_08_Commerce_SEPT22_Q42]
T (A), (Byand (C) only
F45 (A), (B) 57 (C)

[Option ID = 9505]
2. (C). (D) and (E) only

Fae (C). (D) =17 (E)

[Option ID = 9506]
3. (B) (C) and (D) only

== (B). (C) 5=l (D)
[Option ID = 9507]

4. (A), (B) and (E) only

e (A). (B) 311 (E)

[Option ID = 9508]



43)

Which of the following arve thinly veiled disguises that essentially restrict imports?

(A)

(B)

(C)

(D)

(E)

Voluntary import restrictions

Labeling requirements showing origin and contents

Import tarrifs and quotas

Safety regulations for automaobile and electrical equipments

Health regulations for hyziene production and packaging of imported food produetion

Choosze the most appropriate answer from the options given below :

Tferiaa 5 ® w8 FA-%A @ 92A A= £ A Gee: S B AEET B

(A)

(B)

()

(E)

= A Taey

T T 3T T I Hed A e

AT =T AT % 309 d R o0 Fssa) andl =g meae

1 I i o B (e e o v i e D B e 11

[Question ID = 2378][Question Description = 143_08_Commerce_SEPT22_Q43]

1.

2.

3.

4.

(A), (B)and (C) only

w4 (A). (B) 37 (C)

[Option ID = 9509]

(B), (C) and (D) only

A= (B). (C) #7 (D)

[Option ID = 9510]

(C). (D) and (E) only

Fa= (C), (D) 57 (E)

[Option ID = 9511]

(B). (D) and (E) only

4= (B). (D) #1 (E)

[Option ID = 9512]



44)

A= per Section 68 of the Indian Companies Act. a company may purchase its own shares out of

which of the following?

(A) Free reserves

(B)  Securities premium account
(C) General reserve

(D) Proceeds of any other shares

(E} Proceeds of same kind of sharves

Chooze the covrect answer from the options given below :

AEAE T S G 68 % AT ] i W H A E 3 S o 9 960wl R

(A)

(B)

()

i

(E)

T AR
HET= STiET [
W= I A U

HOE TEW F I H O

T ToU T et | OH Rl SO R SE T

[Question ID = 2379][Question Description = 144_08_Commerce_SEPT22_Q44]
(A). (B). (C) and (E) only

1.

2.

3.

4.

4= (A). (B). (C) 3 (E)

[Option ID = 9513]
(A), (B), (C) and (D) only

A= (A), (B), (C) #7 (D)

[Option ID = 9514]
(B). (C). (D) and (E) only

#ad (B). (C). (D) #7 (E)

[Option ID = 9515]
(A). (C), (D) and (E) only

Fae (A). (C). (D) w7 (E)

[Option ID = 9516]



45)  Which of the following are kev features of prudent accounting concepts and conventions?

(A) It includes revenues and profits in the accounts when they are realised.

(B) It prevents profits from being overstated.

(C) It prevents a trader from more withdrawing from the business than is wise.
(D)  Managerial efficiency and expertise.

(E) Good customer relations.

Choose the most appropriate answer from the options given below :

Hiza$l == FFEA AN T F HEEEs § # FA-FE ° TS w8 A
(A) =HH T H A o9 W N BN A A SE e S

(B) == =Y I WI—=G W GE A H A A

(C) =7 =AH1 F =AW § Sa=haaH SI9F 9 AT F4 ° T 7 |

(D) " FEEEE A =T |

(E)y =99 wi=F 994

Hi= fon T {8 F geE TR I 6 944 A

[Question ID = 2380][Question Description = 145_08_Commerce_SEPT22_Q45]
1. (€). (D) and (E) only

w9 (C). (D) 51T (E)

[Option ID = 9517]
2. (A). (D) and (E) only

Fae (A), (D) 37 (E)

[Option ID = 9518]
3. (B (Q) and (D) only

= (B). () W (D)

[Option ID = 9519]
4. (A). (B) and (C) only

Fae (A). (B) i (C)

[Option ID = 9520]



46)  Which of the following declsion cholces are valid in relation to marginal costing?

{4)  Costing ‘special or ‘one off opportunities.

(B) Deciding whether to make or buy a produet.

(C)  Most appropriate technigue because of application of more automation in the industry.
(D)  Choosing between competing alternative actions.

(E) Emploving a penetration or destroyer pricing strategy.

Choose the correct answer from the options given below :
HiFT= =S FUR0 % G99 § Feigs 9 4 FA-mib J Fg-iamen 99 7 7
(A) T S T A AW S9N F A A
(B)  THEl 379 1 S FEE W O
(C)  3am | w=aem F HAGF FATET F T Haah S aAAE
(D) gl dFE B F e g =

I o T foFew § @ mEE S ST R 99 i

[Question ID = 2381][Question Description = 146_08_Commerce_SEPT22_Q46]
1. (A). (B). (D) and (E) only

F== (A), (B). (D) 70 (E)

[Option ID = 9521]
2. (A}, (B), (C)and (D) only

=4 (A). (B). (C) R (D)
[Option ID = 9522]
3. (B). (), (D) and (E) only
Fa= (B). (0). (D) #1 (E)
[Option ID = 9523]
4. (A). (D) and (E) only
Fae (A), (D) A1 (E)

[Option ID = 9524]



47)

A price ceiling below the equilibrium price possibly leads to which of the following?
(A Black marketing

(B) Commodity glut

(Ch Shortage of commodity

(D) Commodity export

(E) Price declhine

Choose the correct answer from the options given below :

HEEA FA | A FEa-Tea-H avan: = 8§ e = o 2

(A

(B)

(C)

(I

A

a4 Timae

1 B L L e 1 e = = A e e 0 e e 1 L

[Question ID = 2382][Question Description = 147_08_Commerce_SEPT22_Q47]

1.

2.

3.

4.

(A} and (B} only

Fa4 (A) ¥7 (B)

[Option ID = 9525]

{D) and (E) only

Fae (D) #:1 (E)

[Option ID = 9526]
(A) and (C) anly

Fae (A) =0 (C)

[Option ID = 9527]
(A), (B) and (C) only

A5 (A), (B) 51 (C)

[Option ID = 9528]



48) A prudent financial policy suggested by Marris Hypothesis to maximize balanced growth of

the firm iz based on which of following financial ratios?
(A)  Return on investment ratio

(B) Debt equity ratio

{C)  Return on capital employed ratio

(D) Ligmdity ratio

(E) Retention ratio

Choose the most appropriate answer from the options given below :

FH1 5 BATE S L AGEGE FA 7a A W G HETE T e Wil e e

Tardi ST T AT 3

(&) THET W WA A

B) = i S

(C)  FAarm o T FieFe S
(D) e YT

(E)  9wm 399

Hra foo 7w fomret 6 @ Wl 39 I W I A

[Question ID = 2383][Question Description = 148_08_Commerce_SEPT22_Q48]
T (A) (B) and (Q) only

4+ (A}, (B) =7 (C)

[Option ID = 9529]
2. (B). (C) and (D) onlv

Fae (B). (C) 3117 (D)
[Option ID = 9530]

3. (A).(C) and (D) only

T (A), (C) =1 (D)

[Option ID = 9531]
4 (B). (D) and (E) only

Fa= (B), (D) 51 (E)

[Option ID = 9532]



49)

The gualified characteristics determining (constituting) consumer ‘rationality’ includes
which of the following?

(4)  Economic selfish motives
(B)  Risltreturn optimiser
i) Clarity of preferences
iD)  Possession of information

(E) Non-satiation of needs

Choose the most appropriate answer from the options given below :

g SlgEal W FAUE (B ) #E Al @ a3 He A F e e e 2 v

(A)

(B)

()

()

(E)

HAaH—aTaFe e #9936
[ 5

= =

AETIFAAT T T

S Tou T fasedl 9 geE 39T S 959 it

[Question ID = 2384][Question Description = 149_08_Commerce_SEPT22_Q49]
(A). (B) and (C) only

1.

2.

3.

4.

== (A). (B) =51 (C)

[Option ID = 9533]
{(C). (D) and (E) only

& (C). (D) 317 (E)

[Option ID = 9534]
(A) (B}, (C) and (D) only

44 (A). (B). (C) A7 (D)

[Option ID = 9535]
{A) (©). (D) and (E} only

Fa (A). (). (D) =1 (E)

[Option ID = 9536]



50) Which of the following ave key assumptions of Gordon's Dividend Model?

A Ee=hr

(B) 1rand Ee are changing

() The firm 1= not all-equity firm
(D)  The firm has perpetual life

(E) The retention ratio, once decided. 15 constant

Choose the correct answer from the options given helow :
Freferfian 5 & Fr- T F e A A e ghaw 7
(A Ee =br

(B) 13 KeUiad &t 2|
(C) = gwEm-—tFA T A e
(D)  =H T 2 |

(E) U =W HGiid 79 W uRy SEuE R

4= feo o a5 ° 991 9 =94 A

[Question ID = 2385][Question Description = 150_08_Commerce_SEPT22_Q50]
1. (A). (D). (E) only

Fa+ (A). (D). (E)

[Option ID = 9537]
2. (B), (C), (E) only

e (B). (). (E)
[Option ID = 9538]

3. (A).(B). (D) only

== (A). (B). (D)
[Option ID = 9539]

4. (C). (D). (E) only

Fae (). (D). (E)

[Option ID = 9540]



51)

Which are the major factors that lead to capital rationing?

(A) Imperfection of capital market.

(B) Reluctance to broaden the eguity share-hase for the fear of losing control.

(¢} Inability to manage.

(D)  Deficiencies in market information which might affect the availability of capital.

(E) Efficiency of Capital Market.

Choose the correct answer from the options given below :

Fetates 8 o - v w2 Jme e a2 27

(A)

(B)

(C)

(D)

(E}

=iaed T@H F 9% | 3F o wan # As w5 F TG A

E = RS Bt | == R e L A B o

[Question ID = 2386][Question Description = 151_08_Commerce_SEPT22_Q51]
(A) (B (D) only

1.

2.

3.

4.

44 (A), (B) 517 (D)

[Option ID = 9541]
(C). (D). (E) only

Faa (C). (D) 517 (E)

[Option ID = 9542]
{(A)AB) (), (E) only

Fa4 (A). (B). (C) #% (E)

[Option ID = 9543]
(A, (B). (€), (D) only

Fad (A), (B). (C) =1 (D)

[Option ID = 9544]



52)

Which of the following statements are correct?

(A)

(B

(C)

(D)

(E)

Internal reliability is described as the consistency of a measure taken at two different

points of time.
A distribution 1s vandom walk if it has a mean of 0 and vaiiance of 1.

Increase and decrease in scores measured overtime that produce a variance of less

than 30% 1s reliable.
Normal distribution cannot he applied to real Iife situations.

Factor Analysis supersedes multiple dizeriminant analvsis.

Choose the most appropriate answer from the options given below :

FrefeiEs atFaE § #1987 R

(A)

(B)

(Cy

(I

(E)

At v @ 71 9= gt w o mw imm % =0 § =went 26 2

A1 O 31 W 1 7 A 5ed U ASiea® WAl 7 |

THA-HE W HM W (W) ° gl @ FH A 50% H FH W w39 wel A, 9w

| i

n

=raand =i

. i ~ P TR, A = fat
I W2 AT A=A S A T JATE AR E i |

FF TS, SEEHE EUeT ¥ 3= w6 A 7

= fom o el ® 1 weE 9T T W = Faa

[Question ID = 2387][Question Description = 152_08_Commerce_SEPT22_Q52]

1.

2.

3.

4.

(A), (B). (E) only

A= (A). (B). (E)

[Option ID = 9545]

(C), (D), (E) only

3= (C), (D). (E)

[Option ID = 9546]

(B). (T, (D) only

Fa= (B). (C). (D)

[Option ID = 9547]

(B). (D). (E) only

*a= (B). (D). (E)

[Option ID = 9548]



53)

Choose the correct options regarding banking:

(A}

(B)

(C)

(D)

Chain banking indicates the form of bank cartel that occurs when a small group of

people control atleast three banks that are independently chartered.

PAN number 1s reguired for deposits in a commercial bank for Rs.50.000

and above.

Upon detection of counterfeit notes at the counter. the bank can impound the note and

1ssue receipt.

The interest rates on bank's contribution to Rural Infrastructure Development Fund is

fixed by NABARD.

REI Act. 1934 prohibits the making or 1ssuing of a promissory note expressed to be

pavable to the bearers thereof.

Choozse the most appropriate answer firom the options given below :

AfF F AW ° F9 3 fawey i 27

(A)

(B)
(C)
(D)

(E)

JE 4T 9% Fee F1 W FA 2, T A 2 T OF DR G A A A A7 S A
FITF A = 50,000 37 390 g F i Fi T F 6w T A= 2|

WAL AR, S, 1934 F 7E0 WEE] AR F 0 9w AT A 91 56 A0
g 7 |

A o T T § 1 aeE 39T I SE Hian

[Question ID = 2388][Question Description = 153_08_Commerce_SEPT22_Q53]
(B). (D). (E) only

1.

2.

3.

4.

4= (B). (D), (E)

[Option ID = 9549]
(B), (C) only

F=77 (B, (C)

[Option ID = 9550]
(A), (D). (E) only

F=4 (A). (D). (E)

[Option ID = 9551]
(A), (B), (C) only

3+ (A), (B). (C)

[Option ID = 9552]



54)

Which of the following constructs hold true for research analysis and design?

(A)
(B)

(<)
(D)

(E)

Research design 1z a framework for every stage of the collection and analvsis of data.

The choice hetween gualitative and guantitative methods in a research experment

depends upon Cronbach alpha.
Experiments az source of data is not appropriate for a qualitative study,

Plagarism is the failure of researcher to acknowledze the borrowed material 1n his'her

‘publication.

Content Analysis 1s a method commonly used in gualitative research to aid data

collection.

Choose the most appropriate answer from the options given below :

e 7 | FF # Fe9 W9 Ave w@ fsana F qud | 7 27

(A)
(B

(C)
(D)

(E)

I AT HFT F AAH TG AR S AT 5w g 2 |

U AE WA H UOAEE AT GREE SgiaEl #1 w9 #Fas® #ew (Cronbach Alpha) W
TR 26T 3 |

R e e e O U 2 e e e e e o s o 1 B

AT GET 39 TSGR SEEE F1 Ieend J1 AT 39 @Eedl £ A = diEeah
=07

I - T U ugiE 3, A T SEsaa AR SR A F A e g 1 R
Einied

i1 o T faeeedl B | e S9E S 0 S99 A

[Question ID = 2389][Question Description = 154_08_Commerce_SEPT22_Q54]
(A). (B). (E) only

1.

2.

3.

4.

#ae (A). (B). (E)

[Option ID = 9553]
(B). (C). (D) only

&= (B). (C). (D)

[Option ID = 9554]
(A). (C), (D). (E) only

Fae (A), (C). (D). (BE)

[Option ID = 9555]
(B). (E) only

a4 (B). (E)

[Option ID = 9556]



55)  Ae per the Agency Theorv of Corporate Governance. which of the following statements are

relevant?

(A) Governance approach 1s materialistic.

(B)  Managers are motivated by the principal’s ohjectives.
(C)  Interests of the managers and principals converge.
(D)  Behaviour pattern is opportunistie,

(E) Owner's attitude 12 to avoid risks,

Choose the most appropriate answer from the options given below |

rm i % st (o) foge F sEEn et 59 8 w5 g B0
(A)  ATHITET ST HiaEan; 2 |

(B)  YETH HiferF F I ° AwIa 7E 7

(C)  WEaH AN HIF F 79 AHEE 7 E

(D)  =TERW WiaET SEEEn] 7

(B)  w=and =i mHmgfed nies o w=- H1 2wl 2|

31 50 0 TRt B | oeE I 5 R S i
[Question ID = 2390][Question Description = 155_08_Commerce_SEPT22_Q55]
T (A)(Q). (E) only

Fa= (A). (C). (E)
[Option ID = 9557]

2. (B). (). (D) only

#Fas (B). (C). (D)
[Option ID = 9558]

3. (B). (D), (E) only

a1 (B). (D). (E)
[Option ID = 9559]

4. (A). (D), (E) only

e (A). (D). (E)

[Option ID = 9560]



36)  From which of the following. employees derive authority?

{A) Position

(B) Experience
(C)  Moral worth
(D)  Past service

(E)  Intelligence

Choose the most appropriate answer from the options given helow :

TretAlEs 9 9 FRE FEE OISR A w5 A

(4 Tm
By WA
(C) FfFE T

D) o A T

(E) Taa=

S fou T faweT § § TeE 3T I 9A S
[Question ID = 2391][Question Description = 156_08_Commerce_SEPT22_Q56]
1. (A). (B) only
Fa5 (A). (B)

[Option ID = 9561]
2. (A), (E) only

Fae (A). (E)
[Option ID = 9562]

3. (B). (C), (E) only
Faa (B). (C). (E)

[Option ID = 9563]
4 (A (B), (C). (D) (E)

(A). (B), (C). (D). (E)

[Option ID = 9564]



57) Which of the following statements are correct?

(4)  The difference between sample variance and population variance computation is |

replaced by ¥ .
(B) Cronbach alpha value less than 0.30 indicates reliability of research instrument.
(C)  The value of R2= 1 may imply that regression 1s spurious.

(D) The identical cbservation of sample and population parameters shows that every

sample can be substituted as population.

(E) Randomise control trial is a gualitative approach to research.

Choose the correct answer from the options given below :

EiGiienie e api: e o i o
(A) T T AT FAEE] TR Ui 6 BT © Rl e p 7

(B) FieF A=H AW A1 0.30 & 5 & 97 I 39559 =] Tauam-1gaT = Hhd Tl & |

(C) & =1 19 giawae # mea (Fffee) s For 2

(D) AT 47 A G AR 9ET T T SEeE B T E |

1 fou 7w famedl § 9 @eE 39S A w959 Hiran

[Question ID = 2392][Question Description = 157_08_Commerce_SEPT22_Q57]
1. (©).(D). (E) only

a1 (C). (D). (E)

[Option ID = 9565]
2. (A). (B). (). (D) only

Fae1 (A). (B}, (C). (D)

[Option ID = 9566]
3.0 (A). (@), (D), (E) only

A= (A). (C). (D). (E)

[Option ID = 9567]
4. (B). (C). (D) only

Fa (B). (C). (D)

[Option ID = 9568]



58) A contract is discharged by supervening impossibility under which of the following situations?

(A)  Destruction of subject matter
iB) Deathor disablement of parties
(C)  Rescizsion

(D) Remission

(E) Accord and satisfaction

Choose the most appropriate answer from the options given below :

Trtetian fm it & wrle S (gudiEm) s g dtes o 3 qfe e =m 27
(A)  Toum 9= #1927

(B)  U&SW FI g FTAT AR w7

(€ T

Dy AOER

4 foo T fawedt § 9w wuEw I W T i

[Question ID = 2393][Question Description = 158_08_Commerce_SEPT22_Q58]
1. {A)(C) and (D) only

%9+ (A). (C) = (D)

[Option ID = 9569]
2. (A) and (B) only

Fae (A) #51 (B)
[Option ID = 9570]
3. (A).(B) and (E) only
F=4 (A). (B) 31 (E)

[Option ID = 9571]
4. (C) and (D) only

Fae (C) =7 (D)

[Option ID = 9572]



59) Which of the following are the main platforms for social media?

{(A) Search Engines

(B)  Online communities and forums
(C) Blogs

(D)  Social Networks

(E}) Web 1.0

Choose the correct answer from the options given below :
Tr=fertiad 5 & Fi-hia HeT Hi F T v R
(&) T Em

(B) == FEIers vd FEA

(C)  w=EE

(D) = J2aEd

(Ey =77 1.0

E 1 R A e e o e il B = e L

[Question ID = 2394][Question Description = 159_08_Commerce_SEPT22_Q59]
- (B). () and (D) only

F9 (B). (C) 7 (D)

[Option ID = 9573]
2. (B) and (D) only

g (B) 5 (D)
[Option ID = 9574]
3. (B).(C). (D) and (E) only
F75 (B). (0), (D) 31 (E)

[Option ID = 9575]
4. {A), (B), (C) and (D) only

Fae (A). (B). (C) 37 (D)

[Option ID = 9576]



60)

Michael Porter has identified five forces that determine the intrinsic long-term attractiveness

of a market. According to the model. which of the following are true?

(A)
(B)
{C)
(D)

(E)

A segment 13 unattractive if it already contains nunerous ageressive competitors.
A segmient is unattractive if it 1s stable or dechning,

A sezment 1s unattractive if it has high entry barriers and low exit barers.

A segment 1= unattractive if the company's suppliers are able to raize prices.

A segment 1s unattractive when there are actual or potent substitutes for the product.

Choose the most appropriate answer from the options given below :

Ui Ll e n i B 7 e e T e i

(A)

(B)

()

(D)

(E)

FIE @ SHTRTE T B, 99 300 TR O 7 39 STETTR TEeTE e 2 |
Fu 1L ol r '_ 3 S ) = E i 3 3
T FA FATRF 71 2, 59 FAT F AYEHT g 9ig ° wEE 7 |

SIS A SFTRTE I 2, TE R 30915 B SnEEE A9 g A 7

e fan 1o kel 9 o HeH I9EE I 9 A

[Question ID = 2395][Question Description = 160_08_Commerce_SEPT22_Q60]
(A} and (B} only

1.

2.

3.

4.

F97 (A) = (B)

[Option ID = 9577]
{B) and (C) only

e (B) 3117 (C)

[Option ID = 9578]
{A). (C) and (D) only

a9 (A). (C) #1 (D)

[Option ID = 9579]
(A). (B). (D) and (E) only

e (A), (B), (D) 217 (E)

[Option ID = 9580]



61) Who among the following are indentified as the Key managerial personnel in the Indian

Companies Aect, 20137

(A)  Chief Executive Officer
(By  Whole Time Director
(C) Company Secretary
(D) Chief Risk Officer

(E) Manager

Choose the moest appropriate answer from the options given below ;
e F wtaiEs, 2013 § FEiEtEd § 8 Fi6 550 TEahE FEE % =9 5 AW b A7
(A) T FEEE At
(B) O R
(C) = A=
(D) = s AR

(E) BEE=ES

= Tam T et § W HaE S0 I H =4 A

[Question ID = 2396][Question Description = 161_08_Commerce_SEPT22_Q61]
T (&), (B) and (D) only

Faet (A), (B) w1 (D)
[Option ID = 9581]
2 (A)and (B) only
e (A) HIT(B)
[Option ID = 9582]
3. (A). (B). (C) and (D) only
Fae (A). (B). (C) 3 (D)
[Option ID = 9583]
4. (A), (B). (€) and (E) only
e (A), (B), (C) 317 (E)

[Option ID = 9584]



62)  Which of the following are essentially anti-competetive agreements as per the Competition

Aet. 2002 in India?

(A) Exclusive distribution agreement
(B) Rezale price maintenance

(C) Exclusive supply agreement

(D) Non-compete agreement

(E} Tie-in agresment

Choose the correct answer from the options given below

b
=

wErg AaiEE, 2002 F SEER YR § FEienEa § 3 AR Tt gasi
(4)  UFIEF o qEgE

(B) T4 T9#4 5o SEm

(C) Tt ST FHE

(D)  T—aiaeEl TEE

(E)  ?15-34 @g=E

4= 150 0 fEEed] § H HE 390 W 999 H0A0

[Question ID = 2397][Question Description = 162_08_Commerce_SEPT22_Q62]
1. (A). (B) and (C) only

Fae (A). (B) 57 (0)

[Option ID = 9585]
2. (C), (D) and (E) only

e (). (D) #7(E)
[Option ID = 9586]

3. (A) (B). (C) and (D) only

Fa4 (A). (B). (C) % (D)
[Option ID = 9587]

4. (A). (B). (C) and (E) only

Fa (A), (B), (C) 31 (E)

[Option ID = 9588]



63)  Rates of Income Tax under new regime applicable for financial year 2021-22 in India are:

(L) 5%

(B)  10%
€ 12%
(D) 15%
(E) 20%

Choose the correct answer from the options given below :

wrE o T 99.-2021-22 F fAv o =m0 F aria =] 26 9] 9w i a E

(&) 5%

(B 10%
€ 12%
(D) 15%
(E)  20%

19 oo o At § 0 9E 3 0 =9 i
[Question ID = 2398][Question Description = 163_08_Commerce_SEPT22_Q63]
1. (A). (B) (€) only
F4 (A), (B). (O)

[Option ID = 9589]
2. (A). (B). (D) only

T (A). (B). (D)
[Option ID = 9590]
3. {A). (B). (D). (E) anly
== (A). (Bl (D). (E)
[Option ID = 9591]
4. (B).{(C), (D), (E)only
Fa= (B). (O). (D). (E)

[Option ID = 9592]



64)  Under Indian Income Tax Act. in order to claim deduction of intersst on home loan for house

property. which of the following things need to be taken care of 7

(A) The home loan must be used for the purchaze/conztruction of the house property.
{B) The loan must be taken on or after 1= April. 2019.

(C) The amount of loan must be used within 10 days fiom the date of loan taken.

(D The purchase or construction must be completed within 5 yvears from the end of

Finaneial Year in which the loan was taken.

(E) The rate of interest on loan cannot exceed 22%,

Chooze the most appropriate answer from the options given below :

i el Die e i B s e e I et e e B T | E e 2 e et e B e e T e

THeAENEa 4 A1 & S9E TEA1 7 ¢

(A)  ETEE T I FEEE w9 R AE @S F e a5 e A
(By  For 1 30w, 2019 T HUan 9% &g o 7l

(C) =1 =i T 0 = A A A 10 T % e @ e w

(D) =i 19 FAEm, =0 e 99 9 9o 99 |3 5 79 % Se 00 5|

(E) =0 W =TS Hl 57 22% © S A6 85 9%l |

i1 fau o fawedl § | e I9ET ST A FI0A

[Question ID = 2399][Question Description = 164_08_Commerce_SEPT22_Q64]
1. (A), (B). (D) only

FA9 (A). (B). (D)
[Option ID = 9593]
2. (A, (©). (D). (E) only
& (A). (C). (D). (E)
[Option ID = 9594]
3. (B, (@), (D). (E) only
Fa= (B). (C). (D). (E)
[Option ID = 9595]
4. (A) and (D) only
Fae (A) # (D)

[Option ID = 9596]



65)

Under Indian Income Tax Act. allowances which are non-taxable for the individual assessee

are:
(A) Sumptuary allowances.

(B) Compensatory allowanece paid to judges.

(Cy  Overtime allowance.

(D) Allowances paid to Govi. emplovees posted abroad

(E)  Non-practicing allowanee.

Choose the most appropriate answer from the options given below !

UWAE SEE SHEae % A9 da9iaaE S $ @0 9 9ol F F # 90d 7

(A)

(B)

(C)

(D)

(E)

=7 W |
AlAHTH G |

TerssT © T wORE] A F YA R A T 9 |

=TT e |

i 150 I el § # HaE I0E S0 99 i

[Question ID = 2400][Question Description = 165_08_Commerce_SEPT22_Q65]
(A (By (D), (E) only

1.

2.

3.

4.

37 (A), (B). (D). (E)

[Option ID = 9597]
{A), (C), (D), (E) only

#Fae (A), (C). (D). (E)

[Option ID = 9598]
(A), (B). (D) only

Fa+ (A). (B). (D)

[Option ID = 9599]
(A (B). (C). (D) (E)

(A, (B (Ch (D), (E)

[Option ID = 9600]



66)  AMatch List T with List 1T :

(A)
(B)
()
(D)

List I — International Trade Theories

Abzolute Advantage
Factor Endowments
Factor — Infensity Reversal

Comparative Advantage

List IT — Expounders
(I)  David Ricardo
(IT) Minhas. Leontief et. al.
(III) Adam Smith

(IV) Heckscher— Ohlin

Choose the correct answer from the options given helow:

Tt 1% = g1 I T5e =i |

(A) =gl oy

(B) HHFH-HATI WA

(C) FrF-waeal TaFs

(D) FeA-TcH=E o1

e T e ° | HEl 3 = Fian

F=f I — s
(I =E= s
(I) Ta=m Tomites 3 5=
(III) v=m o4

(IV) ea-HiEea

[Question ID = 2401][Question Description = 166_08_Commerce_SEPT22_Q66]
T (AT (B)-(II). (C«IV). (D)-(T)

[Option ID = 9601]
2. (A)(IIT). (B)<(IV). (€)-(1IT), (D)(T)

[Option ID = 9602]
3.0 (A-(D) (B)-(IV), (C)-(ID), (D)-(IIT)

[Option ID = 9603]
4 (A)(IID). (B)-(D). (C)-(IT). (D)-(IV)

[Option ID = 9604]

67) Match List I with List IT ;

(A)
(B)
(C)

(D

List I—Ind AS
Ind AS 1
Ind AS 12
Ind AS 24

Ind AS 38

List IT — Topic
(I Inmcome Taxes
(II} Related Party Disclosures
(III} Intangible Assets

(IV) Presentation of Finanecial Statements

Choose the correct answer from the options given helow:



Tl 19 | gl 111 e #irae |

Tl [— 378 T 51 U v = 11 - e
(A) ssroml (I)y =
(B) s=uwugl2 (I1) =etad & TFe
(C) s=vuh24 (III) == e
(D) == mugH 38 (IV) o famron 1 wafa

o fawei § O T I W 99 S

[Question ID = 2402][Question Description = 167_08_Commerce_SEPT22_Q67]
1. (A, (B)-(I). (C)-(IID). (D)-(IV)

[Option ID = 9605]
2. (Ay(IV), (By(I), (C)-(IL), (D)-(IIL)

[Option ID = 9606]
3.0 (A)(IV). (B)-(III). (CH-(ID). (D)-(I)

[Option ID = 9607]
4. (A)-ID. B)-IV), (C)«I). ()-(II)

[Option ID = 9608]

68) Alatch List T with List IT :

List I— Nature of goods List I — Income Elasticity (Ei) of demand
(A) Normal goods ()  E:is greater than one
(B) Inferior goods (II}) Eiis greater than zero
(C)y Luxury goods (IIT) Eii=s hetween zero gnd one
(D) Necessities {IV) Eiis less than zero

Choose the correct answer from the options given below:

o= T = g 1 =7 foem Fifem |

It 1 — =51 = T = I — = 7 33 = (3 918)
(A) T T (I) 3 37 oF F1 s/ma 751 2 |
(B) =iz F=n (D) § 51 24 =1 7 31 = |
(C) famrrae =i Ty, (I0) €. *ME 3= 3T vF & "eA |
(D) ETFFAT (IV) 3. 308 5= & %6 7 |
fow o & WA 3 w5 9e Fa

[Question ID = 2403][Question Description = 168_08_Commerce_SEPT22_Q68]



T (AT, (B)-(IV), (Ci(I), (D)-(IIID)

[Option ID = 9609]
2. (A)(IID). (B)-(I). (C)-(IV). (D)-(IL)

[Option ID = 9610]
3. (A)ID). (B)-(I). (C)-(IIL). (DH-(IV)

[Option ID = 9611]
4. (A)y-(D. (B)-(IID). (C)-(IO). (D)-(IV)

[Option ID = 9612]

69)  Aatch List T with List IT :

List I - Type of Exposure List IT — Description
(A) Economic Exposure (I} Potential changes in all future cash flows of a firm
that result from unanticipated changes 1n exchange
rates.
iB) Translation Exposure (IT) It arises when items of financial statements that are

stated in foreign currencies are restated in the home
currency of an MNC.

(C) Transaction Exposure (IIT) It arises when a firm’'s contract oblizations are
exposed to unanticipated changes in exchange rate.

(D) Operating Exposure (IV) When a firmi's 1real assets are exposed to
unanticipated changes in exchange rates.

Choose the correct answer from the options given below:

T 19 ™9 it [ Teem i |

=T [ — 9= T T IT — faamo

(A) =i TaEE (I)  TAea =0 9 399Es 5ea F 90eEEET El B F o
OTE A TETE | A9iET 95 |

(B) 3FER TAEA Al) == 7= = 2 9= e o i faem el i e am
o vl Hgi =1 S Hee] qg B YA =0 9 w2 |

(C)  T==gsr T41EH (II1) == 79 =1 # 59 HH 1 5 sEa Seaan [hed 5 F
I AR | T A

(D) wEER THE (V) v T 74 1 gwalE® Sl SEeE o H e

SETE] H TETET 7 E
E 5= e R e ot B e e i e e - M 1
[Question ID = 2404][Question Description = 169_08_Commerce_SEPT22_Q69]
T (A, (B)-IV). (CII). (D)D)

[Option ID = 9613]
2. (A)(D. (B)-(ID). (C)-(III). (IH-(IV)

[Option ID = 9614]
3.0 (A-(IV), (Bi-(IOD), (C)-(IL), (D)-(I)

[Option ID = 9615]
4 (Ay-(D. (B)-(IV). (Cy-(I11), (D)-(II)

[Option ID = 9616]



70)  Nlatch List T with List TT ;

List I - Statistical Distribution List II — Characteristical Expression
{A) Negatively Skewed Distribution (I) DMean =Mode, Plx<u)=0.50
(B) Positively Skewed Distribution (II) ¥ >Median > Mode: P >0.5
(C) Binomial Distribution (III) ¥ <Median < Mode
(D) Normal Distribution (IV) ¥ > Median > Mode

Choose the correct answer from the options given helow:

g1 I w9 gt 1L = e i |

gt 1 — i T T 11 — Tamman o= T
(A) THEEERF FT H 73w (I) == =35, Plx<n)=0.50
(B) WHWITHH w9 & 251 5 (I) ¥ >mfers > a5 P >0.5
(C) Tgmm == (IlT) ¥ <#=F < F5=0F
(D) TaEm w2 V) ¥ >WieH > 95

20 10 =01 5 | TRl 3 W S99 i
[Question ID = 2405][Question Description = 170_08_Commerce_SEPT22_Q70]
T (A)-(TOT), (Bi-(D). (CY(IT). (DH«(IV)

[Option ID = 9617]
2. (ALY, (B)-(II). (C)-(IIL). (D)-(IV)

[Option ID = 9618]
30 (A)-(IT). (B)-(IIL). (C)-(IV). (D)-(I)

[Option ID = 9619]
4 (A)(TIT), (Bi-(TV), (C)-(ID). (D)-(T)

[Option ID = 9620]

71)  Match List I with List IT :

List I — Personality Factor List IT — Bipolar Dimension
(A Warmth {I) Lmaginative ve practical
(B) Abstractedness (I} Controlled v= casual
(C) Openness to change (III} Outgoing vs reserved
(D) Perfectionism (IV) Experimental vs conservative

Choose the correct answer from the options given helow:



1.

2.

3.

4.

1.

g1 1% @19 g1 [ =1 T Fifan |

(A)

i(B)

(<)

(D)

A B 2 ot =T e i B e 0 e oo e 1 A

T I — =g ek

r

s

oTATET

7= I - f5-4 s

(I) FIE S =R

(IT)  TafE == SeEae
(III) THe=ER =3 S

(IV) W= 59m =eant

[Question ID = 2406][Question Description = 171_08_Commerce_SEPT22_Q71]

(A}(ID). (BT}, (C)-AIV). (D)-(100)

[Option ID = 9621]

(A)-(IID). (By-(I). (Ch-(IV). (D)-(IT)

[Option ID = 9622]

(A)-(D), (B)-(IV). (C)-(IIL), (D)-(II)

[Option ID = 9623]

(A)-(IIT). (B)-(II), (C)-(IV). (D)-(D)

[Option ID = 9624]

72)

Match List T with List IT ;

List I — Description
(A) Net Stable Funding Ratio

List IT — Conceptualisation

(I Asset Liabihity Management

(B) Innovative Perpetual Debt Instrument (II) Tier — I capital

(C) Time Maturity Gap
(D) Risk Weighted Assets

(IIT) Tier —II capital

(IV) Basel — III norms

Chooze the correct answer from the options given helow:

1 T @ g 11 e e |

(A)
(B)
()

(D)

om0 el 3§ HWel 3 W a9 I

T I — T

oot wreitPe i

T 11— WfemTa o
(I)  OFET SEE T
() T Do
(D) feaw Ig=h

(IV) =fme I 59

[Question ID = 2407][Question Description = 172_08_Commerce_SEPT22_Q72]

(A)-(IV). (B)-(IL), (C)-(I). (D)-(1II)



[Option ID = 9625]
2. (A (T). (B)-(IV). (Cy-(III). (D)-(ID)

[Option ID = 9626]
3. (AL (B)(TI). (C)-(IV), (D)-(D)

[Option ID = 9627]
4 (A)-(IV). (B)-IOI), (C)-(I), (D)-(I)

[Option ID = 9628]

73)  Alatch List T with List IT :

(A)
iB)
i)
(D)

List I — Promotional Campaizn
# StayvStronghloms

# JeetKiOve

# Lets unstereotypelndia

# Freedomtolove

List IT — Company
(I)  Pepsico India
(I} Hindustan Uniliver (HUL)
(ITI) Indian Tobacco Company (ITC)

(IV) Brocke Bond India

Choosze the correct answer from the options given below:

=l I3 = = 11 =1 e =hifem |

Tt [ — s
(A) #=EiEEE (D)
(B) # Fohran

. e o -
(C)  #=aaF2aEEdsi=a

(D) #hr=ngea

{50 7 Teppeat § 1 wA = F1 = i

T 1L —

e =T
(D) T g (0= g o)
(IIT) =fsen 2 o1 (38 9 )

(IV) o= == si=ar

[Question ID = 2408][Question Description = 173_08_Commerce_SEPT22_Q73]
T (A)-(III). (B)-(I). (C)-(IV). (D)-(IT)

[Option ID = 9629]
2. (A)-ID), (B)-(IV). (C)-(D), (D})-(I1T)

[Option ID = 9630]
3. (A)-(II), (B)-(I), (©)-(IIT). (D)-(IV)

[Option ID = 9631]
4 (AVD). (B)-{IIT). (C)«(IV). (D)-(IT)

[Option ID = 9632]



74)  Match List I with List II :

(A)
(B)
(€
(D}

Li=st I — Legal Latin Phrase

Consensus ad idem (I
Quid pro quo (ID)
Quantum meruit (IIL)
Caveate emptor {IV)

List IT — Description
Something in return
As much as earned
Buyer beware

Meeting of minds

Choose the correct answer from the options given below:

o= 1% =va gt 11 = 9o i |

Tl [ — 39 wiza amam

(A) “FP-EY UE T8

(B) fras w
(C) warzg e
(D) Ffmz 3077

I fom m fawmat 3 7 59 3 = =9 Fa

o=l 11 — T
I == 853
(ID) T ot st
(IIT) e A

(IV) =aF 39w

[Question ID = 2409][Question Description = 174_08_Commerce_SEPT22_Q74]
T (A)D), (B)-(III), (C)-(IV). (D)-(II)

[Option ID = 9633]
2. (A)(IV). (B)-(I). (C)-(IL), (D)-{IIL)

[Option ID = 9634]
30 (A)AID). (B)-(D). (C)-(ITL). (D)-(IV)

[Option ID = 9635]
4 (A)-(D). (B)-(IV). (C)-(IT). (D)-(IIT)

[Option ID = 9636]

75)  Aatch List T with List IT :

(A)
(B)
(©)
(D)

List I — Income Tax Disposition
Donation to National Defence Fund
Hedeing of Tax

Compliance with Legal Formalities

Permanent Aceount Number (PAN)

List IT — Particular/Section
(I) Section 140 (4)
(II) Tax Management
(IIT) Tax Avoidance

(IV) 100% Deduction

Choose the correct answer from the options given helow:



gl 1 @19 g1 11 =1 e i |

T [ — STPrRn St e Tt 11 — oo /e
(A) T TR E 7 (Iy  =wr 140 (7)
(B) = 1 WA (I) =7 S=eA
(C) AITEF HFHa F T (IIT) =7 FTro
(D) T T = () (IV)  100% F2Hi

AU L e e e 2 i e e 7 o B 7 L

[Question ID = 2410][Question Description = 175_08_Commerce_SEPT22_Q75]
T (A)-(IID). (B)-(IT), (C)-(I). (D)-(IV)

[Option ID = 9637]
2. (A)-{IWV), (B)-(IIL), (Cy-( Iy, (D)-(T)

[Option ID = 9638]
30 (A)-(IT), (BY-D), (C)-(IID). (D)-(IV)

[Option ID = 9639]
4 (A)AD. (B)-(IV), (C)-(IL), (D)-(IID)

[Option ID = 9640]

76) Arrange the following nesotiation rounds of WTO (World Trade Organisation) in reverse

chronological order;

(A) Uruguay Round
(Bi Geneva Round
(C) EKennedy Round
iD)  Doha Round

(E) Tokye Round

Choose the correct answer from the options given below :



e
I

Tava =i Trea 1 Al F FeeiEE S F I S S e

(A)

iB)

(C)

(o

i(E)

.--' S Tfﬂ'{

LA L e s == = o e Tl 1 - o 1 A

[Question ID = 2411][Question Description = 176_08_Commerce_SEPT22_Q76]
1. (A), (C). (D), (B). (E)

[Option ID = 9641]
2. (D). (A). (E). (C). (B)

[Option ID = 9642]
3. (B). (A (C), (E). (D)

[Option ID = 9643]
4. (D). (E) (M) (C) (B)

[Option ID = 9644]

77)

What will be the sequence of steps Involved in ‘Net Benefit Model' of Human Resource

Aeccounting?

(A)  The gross value of services to be rendered 1n future by the emplovee in their individual
as well as their collective capacity 1s determined.

(B) The excess of the value of future human resources over the value of future payvinents is
ascertained.

(C) The present value of the net benefit 1= determined by applving a pre-determined
discount rate.

(I The value of future payments to the employees 1s determined.

(E) The amount calculated under ‘C' will be the value of human resources to the

organisation.

Choose the correct sequence from the options given below :



T HETEA e F A7 SArEZ G156 § M Saidied FoH 3 5al %6 94 B Y

(A}

(B)

(C}
(D)

(E)

i G SRR HE WG w8 9 | A S ST T T Te A
AT R |

v A T AW A A F Gee A SE1 AFE JEdA §osanEs ged 1 AeETE e
e E |

e T e 115 B e 1 e | e O T e e 1 0 e e A

“C" % WA WiRa T WS 6 HAE SETEA 5 ged =0 |

720 T g 5 | HE I W = i

[Question ID = 2412][Question Description = 177_08_Commerce_SEPT22_Q77]
1. (A). (D). (B). (C). (E)

[Option ID = 9645]
2. (A (B). (C). (D) (E)

[Option ID = 9646]
3. (A)(C). (D). (B) (E)

[Option ID = 9647]
4. (B). (A). (C) (D). (E)

[Option ID = 9648]

78)

Logically sequence the following economic entities/identifies in understanding the theory of

consumer cholee:

(A) Budget line

(B) Utility analysis

(C)  Demand curve analysiz
(I Indifference curve analysis

(E) Consumer equlibrium

Choose the correct answer from the options given below :



i e e o 2 P o B 2 2 i B B o T e 0 e = e = B | o el = K L
(&) e Ui (T @)

(B) T e

(C) = = favemm

(D) =FEEE T @7

(E) 399791 Ha=

fom o § @ 5 I o = i

[Question ID = 2413][Question Description = 178_08_Commerce_SEPT22_Q78]
1. (D) = (E) = (A) > (B) > ()

[Option ID = 9649]
2. {(B)—= (D)= (A) = (E)— (C)

[Option ID = 9650]
3. By—= (€)— (D)—=(A) > ()

[Option ID = 9651]
4 (B)—= (D)= (A) = (C)—= (E)

[Option ID = 9652]
79)  Arvange the following steps in the process of GDR Issues:
(A)  Registration with presceribed authority
(B)  Appointment and vesting of shares with the custodian
(Cy  Approval of the vegulatory authorities
(D)  Iasting of GDR

(E) GDR allotment

Choose the correct answer from the options given below :



1 2 AW T uiEe § el = 6 sSaieay I

(A) = WIEERET S Wy T |

(B)  wiwa =1 fafam aa wen #1 A |
(C)  TaFEg=Fm miwEn $1 9eeiE |

(D) S wE gy

(B) = & 5w e

oo o faemt § T wE I W 9Ea A

[Question ID = 2414][Question Description = 179_08_Commerce_SEPT22_Q79]
. (C) (A (B), (E) (D)

[Option ID = 9653]
2. (A). (B), (C). (D). (E)

[Option ID = 9654]
3. (A). (C). (B). (E). (D)

[Option ID = 9655]
4 (B), (A), (C). (D), (E)

[Option ID = 9656]

80)

Sequentially arrange the following themes related to globalization of Indian businesses since

independence:

(A) FDI in various sectors opened along with slashing of custom duties.

(B)  Partial opening of economy to external trade and de-licensing of some key sectors.

(C)  Govt. —led inveztments in large public sector units in steel. chemicals and power.

(D)  Indian businesses became competitive and started to reap rewards of various phases of
development learning.

(E)  Increased government involvement in industrvy with sustained focus on import

substitution,

Choose the correct answer from the options given below :



T GRS SATIN S S9AT § Aetan SeenEs wE ST w;

(A)  HE-3F el B WE-HE HF A0 H UF 5 75 i a5 |

(B) = = F fow sidermen ) Sfe B9 R AR AR T R 9§ wnehe H sk
AT |

(C)  =0IW, TR AT S A9 0 59 SEAEE 49 TR O WEE F A9 1 [a |

(D)  HWEA™ =AOE Waegl =9 #6 {9RE ATE F | 900 8 % T w51

(E)  o/mE Sl W Haa SH o0 50 SA0 B Atawas Shnl 6 3l |

fom T feredl § ® HE T 1 =AA R

[Question ID = 2415][Question Description = 180_08_Commerce_SEPT22_Q80]
1. (C). (E). (B). (D), (A)

[Option ID = 9657]
2. (E)(C). (B). (A). (D)

[Option ID = 9658]
3. (C)(E) (B (A). (D)

[Option ID = 9659]
4 (A) (C), (E). (B). (D)

[Option ID = 9660]

81)

Arrange the following stages of delegation in correct sequence;

(A) Establish proper controls,

(B)  Select the person in light of the job to be done.

(€C)  Reward effective delezation and successful assumption of authority.
(D)  Define assignments and delegate authority in light of results expectad.

(E) Maintain open lines of communication.

Choose the correct answer from the options given below :



RIS 1 AeE SEes 1 H9E F9 8 a9
(&)  T=PF AT EhE

B) I T = F SEE T 5 s w5 oaa |
(C) Wl TR i AR T TSR TR aE

D)  etHE g F s F i o et e s e gemtas e

(E) =907 1 =01 1 a7 =7 0@ |

fau o fawedl A mE 3 = Fien

[Question ID = 2416][Question Description = 181_08_Commerce_SEPT22_Q81]
1. (A), (B). (C), (E), (D)

[Option ID = 9661]
2. (B, (D), (E) (A), (O)

[Option ID = 9662]
3. (D). (B). (E). (A). (C)

[Option ID = 9663]
4. (C). (D) (B) (E) (A)

[Option ID = 9664]

82) Pricing of housing loan by a commercial bank may follow the following steps In a logieal
sequence:

(A)  Competitive price determination
(Bl  Specification of spread

(C)  Application of MCLR

(D) Conduet of Credit Assessment

(E)  Quoting to prospective borrower

Choose the correct answer from the options given below :



T AT W FEEE T F g (WEEn) 34 FeiEhEa = 6 S #8856

(A)

(B)

(C)

(D)

(E)

AT F 1—3‘# w?.,ﬂ.Fl

w1 i T AW ST

g (wis2Z) ArEeE 1 T

TYifae FH5H F1 350

20 T gl § ° HE 39 1 99 S0

[Question ID = 2417][Question Description = 182_08_Commerce_SEPT22_Q82]
1. (). (B). (A). (D). (E)

[Option ID = 9665]
2. {A), (B (D). () (E)

[Option ID = 9666]
3. (B). (A). (D). (E). (C)

[Option ID = 9667]
4. (DL (O (B (A (E)

[Option ID = 9668]

83)

A company should underzo a step-wise proceszs before selecting a final price. Accordingly.

arrange the following steps of priding-policy process to help ‘XYZ company to decide the final

price of its product.

(A)
(B)
(C)

(D)
(E)

Selecting the pricing method.
Examining competitor’s costs. prices and offers.

Estimating the demand curve and the probable guantities company will sell at each

possible price.
Selecting the pricing objective of the company.

Estimating costs for different levels of output. for different levels of accumulated

production experience. and for differentiated marketing offers.

Choose the correct answer from the options given helow :



T 91 1 109 579 F == 4 T F-AW U F A e | 53, XYZ FE F A 3
F (W HeT 1 IR0 A H HEEad FeEe geg-ane Ui 5 wmEg w9 1 g

(&) Fra-Tagmo wmet # TE

(B)  WiAEIgal = =, 4 UE T H O

(D) T T Gea-TAET TE T T

(E) =71 = Tafg= =71, S0 507 o 39991 & Targ= T 3 faaesr e T # e s
T T AT |

am v el | | HE 3 F =EE e

[Question ID = 2418][Question Description = 183_08_Commerce_SEPT22_Q83]
1. (D). (B). (E). (C), (&)

[Option ID = 9669]
2. (DY (). (E) (B). (A)

[Option ID = 9670]
3. (A), (B, (C), (E). (D)

[Option ID = 9671]
4. (A). (D). (E) (T, (B)

[Option ID = 9672]

84) Sequence the following in copyrisht ecosystem for litérary creation under the Indian

Copyright Aet. 1957

(A)  Public communication
(B) Copyvright assignment
(C) Content development
(D)  Relinguish copyright

(E)  Copyright transmission

Choose the correct answer from the options given below :



e FnEE WigEEg, 1957 F I ANAAF Fi kAW HUTE 9 8 Fe a5 w0 1
T -

(A) =T =@

(B)  TFOFTE AES

(C) T T TEm

(D) ATz = e

(E)  =FrinTee 927w

v T e ° H mE I T 9 i

[Question ID = 2419][Question Description = 184_08_Commerce_SEPT22_Q84]
. (A > (E) = (B) > (D) = (C)

[Option ID = 9673]
2. ()= (A) =B = (E— D

[Option ID = 9674]
3. (E) = (0) = (B) > (D)= &)

[Option ID = 9675]
4 Bi—= (0O =E > > D

[Option ID = 9676]

85) Steps involved 1n computation of Book Profit under MAT regime are as follows:

(A) Armve NP as per statement of P/L A/C of the company.

(B)  Specific adjustments in case of merger,

(<) Make adjustments pertaining to OCI items.

(D) Adjust the book profit with stipulated excluzion and inclusion.

(E)  Net amount of Book Profit for application of MAT rate

Choose the correct sequence from the options given bhelow :



Uz =Ee] % S ¥4 @9 % 9Ewed 1 e 9EE =9 e
(A) T U1/ = TR % AAEE U U A e |
(B) Toem om= § =i oamErs |

(C) =7 di =7 wol © Saiad aaEEd 6 |

(D) ¥Eg ATEET AN ST J SE AT T S e |

(E)  H2 = F ST B a9 oy ) e e

50 T feReT § H HEl FE R 99T e

[Question ID = 2420][Question Description = 185_08_Commerce_SEPT22_Q85]
T (AL (D). (B). (C). (E)

[Option ID = 9677]
2. (A (B (D).(C)(E)

[Option ID = 9678]
3. (AN (C), (B) (D), (E)

[Option ID = 9679]
4 (A (B (C). (D) (E)

[Option ID = 9680]

86) (fiven below are two statements :

Statement I: Policies are guides to action. rather than to thinkine.

Statement I1: Policies define an area within which a decision is to be made,

In the Light of the above statements. choose the most appropriate answer from the options

given below :
For (1) ;AT T=e ohl ST T o 9 -HEI Al 7 |

F2r (I1) ;AT =9 &9 51 Sy e & 99 9= ey fm = o I 2

IR FAT F AR A A 50 0 e B H HEE I0a I R 9 i

[Question ID = 2421][Question Description = 186_08_Commerce_SEPT22_Q86]
1. Both Statement I and Statement IT are corrvect

Fem (1) 3 (ID =91 9241 & |

[Option ID = 9681]

2. Both Statement I and Statement II ave incorrect

F2A (I) % (1) =71 a2 |

[Option ID = 9682]



3. Btatement Iis correct but Statement IT 1s incorrect

w2 (1) TA 2, e wae (0D T 2

[Option ID = 9683]

4. Statement I'iz incorrect but Statement IT is correct

Fo (1) 7T 2, =T 2 () 98 2 |

[Option ID = 9684]

87)  Given helow are two statements :

Statement [ : Displav of goods by a shopkeeper with prices marked on them. 1= not an offer

but an invitation to the public to make an offer to buyv the goods.

Statement 1T : Price quotations. catalogues and advertisements in newspaper for sale of an

article do constitute a valid offer.

In the Light of the above statements. choose the most approprate answer from the options

given below:

= 21 A fow o A

F 9 = TR F AEE F

Fo (L) : Tl =2 = o 70 o w8 5 e =, e o faeres v 39 v g e

TR FYA ST O A (50 T faedl § F Ge 999 S0 0 98T i

[Question ID = 2422][Question Description = 187_08_Commerce_SEPT22_Q87]

1. Both Statement I and Statement IT are correct

Fo (1) = (D) 5 #9517 |

[Option ID = 9685]
2. Both Statement I and Statement II are neorrect

FoF (D) =0 (1D =F A F |

[Option ID = 9686]
3. Statement I 1s correct but Statement II is incorrect

w2 (1) TF1 B, =0 e (1) T 7 |
[Option ID = 9687]
4. Statement Iis incorrect but Statement II is correect
=47 (D) 7o 7, = e () #8 7 |

[Option ID = 9688]



88) Given helow are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) Capital structure 1= deternuned within debt eapacity of a company and 1t
should not be exceeded.

Reason (R) : Debt capacity of a company depends on ite ability fo generate cash flows,
It should generate cash enough to payv lenders’ fixed charges and
principal sum.

In the Light of the above Statements. choose the most appropriate answer from the options

given below::

=1 71 F 50 T 2 wF ATeETR (Assertion A)F ¥ § fEiEd 7 A1 790 39F F00 (Reason R) F

=
7 (R) : Tl FET I T SEAT ] TR 309 A ] SOl Oed W FET el 2 2

E =1 2 e o e T e e 1 e | B 0 [ e e o i e B R T e

ST FYA F AWE O, A 50 0 EEedl 8 0 HeE 999 3 1 999 A,
[Question ID = 2423][Question Description = 188_08_Commerce_SEPT22_Q88]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 30 (R) 941 = & 31 (R). (A) 1 G# =me 2 |

[Option ID = 9689]
2. Both (A) and (R) ave correct but (R) is NOT the corvect explanation of (A)

(&) 377 (R) =1 @81 2, 91 (R). (A) F1 o) = =+ 2|
[Option ID = 9690]
3. [A) 1= correct but (R) is not correct
(A) WE &, =0 (R) Wa1 78 7 |

[Option ID = 9691]
4. (A} 1= not correct but (R) is corvect

(A) = 771 7, # (R =91 7

[Option ID = 9692]



89)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Beason (R) :
Assertion (A) Substitution effect 1s usually much larger than the income effect.
Reason (K) @ Consumer usually spends only a small portion of her/his income on any one

commodity,

In the light of the above Statements. choose the correct answer from the options given below :

dr= o1 Fo fou w2 ; uF SRR (Assertion A) F F9 | feiiad 7 A1 51 39F FE9 (Reason R) F

BTH ;
ATFT (A) ; TIAEHTI WO AT 37 F WA 8 HrR 1 B f |
7% (R) : IYHIFET GIEA: HYA1 AT e UF Sie] (e TRl U gt W S e E

T FU F A 1, A9 BT EEeq 8 we 39EE 39 F 99T e

[Question ID = 2424][Question Description = 189_08_Commerce_SEPT22_Q89]
1. Baoth (A) and (R) are true and (R) 1= the correct explanation of (4)

(A) 317 (R) =1 707 & =10 (R). (A) =1 =71 =m0 2 |

[Option ID = 9693]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (4)

(A) 317 (R) o1 873 2, S (R). (A) i T81 = 751 2 |

[Option ID = 9694]
3. {A)is true but (R) 1= falze

(A) =e 2, =1 (R) 593 7 |

[Option ID = 9695]
4. (A) 1= falze but (R) 1= true

(A) #Ee 2. =tE (B) 579 2

[Option ID = 9696]

90) Given helow are two statements ©

Statement I: Marketing managers must calculate customer hfetime values of thewr
customer base to understand their profit implications.

Statement IT:  Activity —based costing. an accounting technigue, is very useful for conducting
customer profitability analysis,

In the hight of the above Statements. choose the most appropriate answer from the options

oiven helow :



fEawsmfmmE .

F94 (1)  T999F 999 & 394 &9 F HEadl F 999H # W0 3999 TEE SEE | OSTEEE T w6

FoA (I0) : TTEF1 A T F AN W EeSN A # @0 oErEe a9 F B9 5 TEEis s

e g aies ST E |

ST A o T A, A7 5 T el o HeE S 3 999 I

[Question ID = 2425][Question Description = 190_08_Commerce_SEPT22_Q90]

1.

2.

3.

4.

Both Statement I and Statement I are correct

w29 (1) 3 (II) 51 #2412 |

[Option ID = 9697]
Both Statement I and Statement IT are incorrect
F () A (ID) Zr 7o 2 |

[Option ID = 9698]
Statement I1s correct but Statement IT 1s incorrect

2 (1) 571 2, =0 F97 (1) 754 7 |

[Option ID = 9699]

Statement I 1= incorrect but Statement IT is correct

w2 (1) T 2, AT 99 (1D 58 2

[Option ID = 9700]

Topic:- 8_11_SH1_PARTB_S1

1)

Read the following passage and answer the question.

GOI has reatfivmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of eryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the propesed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord, paid the tax and interest on the deduction they have claimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and erypto
exchanges fear it could push trading activity bevond Indian jurisdiction te decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually foree blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
rules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments. has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI} is ready with its digital currency. Fiat
digital eurrencies, which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.



qTA TOER 1 & o | e 3 55w F G #i T aE 2e (W) o 39eE Tiee amem
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Which one of the following is done by the Digital Curreney Regulatory Framework?

Tssfiee FH (=ehr qu) s S g B | | B e e e Y

[Question ID = 2426][Question Description = 191_08_Commerce_SEPT22_Q91]

1.

2.

3.

4.

Eventually force blockchain companies to operate from outside.
AT AT 1 S H A i S 6 e s e
[Option ID = 9701]
Attract uzers towards exchanges which are comiphiant with know-your-customer rules.

[Option ID = 9702]
Mbtivate the operators to operate outside the country.

TR Fl 591 T WA H WA - B 0 |

[Option ID = 9703]
Promote underground peer to peer crypio platforms,

A= q1E3 -7 -UE Fr WAl A A

[Option ID = 9704]



2)

Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill fo use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of ene crypto
asset to be 'set off against gains on another No deduction is permitted for any expenditiure other
than the cost of acquisition for computation of imcome from sale of eryptos and non-fungible
tokens (NFTs). Every transfer of ervpto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the propesed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been 1mposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income; but have not, on
their own accord. paid the tax and interest on the deduction they have claimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction te decentrahzed
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining ecryptos will eventually foree blockchain
companies and the talent they hire to operate outside the eountry. To the extent that the
proposed tax regime drives users from exchanges compliant with know-yvour-customer (KYC)
Tules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments. has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The resulatory position
could become clearer once the Reserve Bank of India (RBI) is ready with its digital currency. Fiat
digital eurrencies, which make transactions and moeonetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the

future of money.

GFE WERW F TE 9T | w9l | S5 9 h hgE i E T a2 (R }‘-ﬂﬁﬁﬁ_ﬂﬁ'ﬁ Eenres
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Given below are two statements | One 12 labelled as Aszsertion (A) and the other iz labelled as
Heason (H) :

Assertion (A) ; Crypto exchanges fear that the new amendments counld ‘push trading
activity beyond Indian jurisdiction to decentralized exchanges.

Reason (R) : The new amendments disallow lozses on the sale of new crypto asset to be
set off against gains on another.

In the light of the above Statements. choose the most appropriate answer from the options
giwven helow :

A9 1 YA 19U T . v AfEEA (Assertion A)F =9 § foi@d 3 A1 587 38F FEW (Reason R) #
'FE{T-[

ATFE (A) : = fafma =3 3 = = 2 0 90 denael 9 s et SndE SETeEn A
T SR ST (gl e w2 = el 2

F (R) 0 AR T FE GREEE F ST ¥ 5 O w1 H g8 9hEye F oA 3

I FEA F AR 4, 4/ 0 e § 1 wes 39w I = i

[Question ID = 2427][Question Description = 192_08_Commerce_SEPT22_Q92]

- Both (A) and (R) arve correct and (R) is the correct explanation of (A)

(A) AW (R) TF1 =1 7 A1 (R). (A) =1 o= =2 7 |
[Option ID = 9705]
2. Both (A) and (R) are correct but (R) iz NOT the correct explanation of (A)
(A) 3 (R) =71 FRT 2, =09 (R). (A) 51 528 = 7@ 2
[Option ID = 9706]
3. {Ayis correct but (R)is rot correct
(A) T 2, wife (R) & 75 2 |

[Option ID = 9707]

4. (A)1=s not correct but (R) is correct

(A) F1 F71 7, #5A (R) 781 2)

[Option ID = 9708]



3)  Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill fo use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of ene crypto
asset to be 'set off against gains on another No deduction is permitted for any expenditiure other
than the cost of acquisition for computation of imcome from sale of eryptos and non-fungible
tokens (NFTs). Every transfer of ervpto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the propesed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been 1mposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income; but have not, on
their own accord. paid the tax and interest on the deduction they have claimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction te decentrahzed
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining ecryptos will eventually foree blockchain
companies and the talent they hire to operate outside the eountry. To the extent that the
proposed tax regime drives users from exchanges compliant with know-yvour-customer (KYC)
Tules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments. has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The resulatory position
could become clearer once the Reserve Bank of India (RBI) is ready with its digital currency. Fiat
digital eurrencies, which make transactions and moeonetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.

GFE WERW F TE 9T | w9l | S5 9 h hgE i E T a2 (R }‘-ﬂﬁﬁﬁ_ﬂﬁ'ﬁ Eenres
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Government of India’s intent towards virtual digital assets is which one of the following?
YIA TR I AL E (S92 3H (Fnias (S92 JEnid) F 0 W 2 6 wEE] g £ 7

[Question ID = 2428][Question Description = 193_08_Commerce_SEPT22_Q93]



4)

Te promote speculation
Hq ‘L'_§| '3F|i }%[ EEE] %'7‘"

[Option ID = 9709]
To he silent on speculation

[Option ID = 9710]
To dizseourage speculation

[Option ID = 9711]
To stop speculation

[Option ID = 9712]

Read the following passage and answer the question.

GOI has reathirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of cne crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of cryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the propesed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income; but have not. on
their own accord, paid the tax and interest on the deduction they have claimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and erypto
exchanges fear it could push trading activity bevond Indian jurisdiction te decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually foree blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
rules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI) is ready with its digital currency. Fiat
digital eurrencies, which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation. and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.
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Given below are two statements :

Statement I: Non-fungible tokens cannot be splitted.

Statement II: Non-fungible tokens can be replicated at convenience,

In the light of the above Statements. choose the most appropriate answer from the options
ziven helow :

FoA (1) : A9 B9 28 (T TF 21) F1 3997 01 691 =91 5 |

F2A (1) : AT 28 1 GEgHER T T 3 36T |

N FUA F OAAE 5, A9 50 0 e § H Hed 399 3 1 994 i

[Question ID = 2429][Question Description = 194_08_Commerce_SEPT22_Q94]

1.

2.

3.

4.

Both Statement I and Statement I arve correct
H9A (1) 30 (1D 5H =95 7 |
[Option ID = 9713]
Both Statement I and Statement I are incorrect
w4 (1) i (1) 7+ 7= 7 |
[Option ID = 9714]
Statement I is correct but Statement IT i1s incorrect
F2= (1) T91 2. #1529 (1D 70 2 |

[Option ID = 9715]
Statement [ is incorrect but Statement IT is correct

=

F25 (1) 7T9F ®, = FEE (1D T8 2



[Option ID = 9716]

5)

Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill fo use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of eryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the propesed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been 1mposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income; but have not, on
their own accord. paid the tax and interest on the deduction they have claimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction te decentrahzed
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually foree blockchain
companies and the talent they hire to operate ouiside the country. To the extent that the
propozed tax regime drives users from exchanges compliant with know-your-customer (KYC)
rules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments. has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI} is ready with its digital currency. Fiat
digital eurrencies, which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.
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Digital curreney rezulations will result into which one of the following?
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[Question ID = 2430][Question Description = 195_08_Commerce_SEPT22_Q95]

1.

2.

4.

Seare digital currencies away.

Tefrem =itmat (37Fm gom) A 7 T=eA O 5 = S |

[Option ID = 9717]

Permit deduction of any expenditure other than the cost of acquisition for computation
of income.

A i T R AtSmET S F S S =5 1 A2 F SEEE me |

[Option ID = 9718]

Impoze penalties for tax payers who have claimed a deduction of zurcharge and cess
from their taxable income,

= T TR E |

[Option ID = 9719]
Attract 30% tax on every transfer of crypto asset.

T T 9fETE F S O 30% T UW AR 7

[Option ID = 9720]

Topic:- 8_11_SH1_PARTC_$1

1)

Read the given passage and answer the guestion.

Naik. AGM Materials, is fuming and fretting, He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table, shouted and walked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Natk's bile and why he put in his papers. barely four months
after he took up his present assignment.

The year was 2021 when Naik quit the prestigious SAIL plant at Vishakapatnam.
As a manager materials. Naik enjoyved powers — he could even place an order for materials
worth Re. 25 lakh. He needed nobody's prior approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materials. The
plant 15 a part of the mult-product and multiplant-conglomerate owned by a prestigious
businessz house in India.

Obviously, perks, designation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior appreval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an order by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the hill was not endorsed by Kamath. Kamath refused
to s1gn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumizated and cheated. A brief encounter with Kamath only aggravated the
problem. Waik was curtly told that he should have known company rules before venturing.
Naik decided to guit.
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As per the passage. who 1= at fault?

[Question ID = 2431][Question Description = 196_08_Commerce_SEPT22_Q96]

1.

2.

3.

4.

Mp, Naik

[Option ID = 9721]
M. Eamath

[Option ID = 9722]
Both My, Naik and My, Eamath

o 9= = A1 FEg, ZE

[Option ID = 9723]
Human Resource Departinent

o= HETEA T

[Option ID = 9724]



2)

Read the given passage and answer the gquestion.

Naik. AGM Materials, 1= fuming and fretting, He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table, shouted and walked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. bharely four months
after he took up his present assignment.

The year was 2021 when Naik quit the prestigious SAIL plant at Vishakapatnam.
As a manager materials. Naik enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's prior approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materialzs, The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. designation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyvptus pulp making company, little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an order by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld payment for the reason that the hill was not endorsed by Kamath. Kamath refused
to 21gn on the bill as his approval was not taken by Naik before placing the crder.

Naik felt fumizated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.

Naik decided to quit.

i Pt a3 > 3 3 E > > e, o
([ G TR ) e e L= R | e i 12 e s e 1 L

ATEF, U v (EvE) T 6 7S T f | 9w, A0 (9 # o Fie 2, S B W S
2 1L = B ot S ot o e et o e = . g - o 1 1o |

I =T 50 ZU TR F U AF % U A0 7 | 35 9 RIS T A AR AT | IS 59 e R TEe
B 1 e e o e oo e e 2 L B 1 e ™ e A 18 B e e 2 e e e e et e e | L e
21U E e o A o B

T 2021 H 15F A EUETEEE F OO d #59 F S0 A7 | WO A E 59 O AEE R O wee
Al - 7T 9% T 97 25 =g o i Al o o SnE 3 wear o1 | 59 TEE 6 Y SEid H AE g
T 7|

-1I5'4'_—I*ﬁlﬂmqn!ln*qmﬁwmﬂ[W}WTWHUTﬁWWTWT{WWQWIT
mﬁﬁﬁ?wmﬁm—mﬂmw:ﬁwmﬁr—w ST AE-wFT "YW AW | TIE E E
IR, T% 311 30 HE ) Hi0EAl 5 H AEAE A I8 THEE T T 8 o wie o E A7)

9 AEF AT S S9H Sl FE T FEGR 9 9 39 98 A9 T9 0 5 12 =g = A ammh
foe zome R S § 2w, I S Ui AT = 5 0 aER A1 39 w2 A | T
ATE % e, W AT TS, UTH S 8, TEERE R TS A HOE B I o S TR |

(Lo Tl o cal ot - 1 i e 1 i1 0 B € B B e -2 B ke = B 2 o
T 1907 =7 FWS 4 FTHE A0 AT 1| FET T O S H 0 O 58T F9i Aeh 4 AE o
T UEel SEAET FEAIEA AR e a7 |

TTEF F S R I GiEE T T R, TE WY O 5 7 | R F WY 5 I 9 3 50 3 2EE
F1 S AF TS 59| AEE w2 v 5w 5 U TR 9RO 6 IR 38 FOE F A
TR AT SR A1) AE F BT S R 0 |



Given below are two statements : One 1= lahelled as Assertion (A) and the other 1= lahelled as

BReason (R) :

Assertion (A) : It was right on the part of accounts department to withheld payment.
Reason (R) : My, Naik had the authority to place the order for materials worth
Rs.25 lakh.

In the light of the above Statements. choose the correct answer firom the options eiven below :

4= T W 19U 0 TR AfawEE (Assertion A) T B § feiGE 7 Al gEO 3@F B0 (Reason R) &

=T A

ATTF (A) : 9P 3 §TAE TF 5 T8 FE |
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TYIRE A R SR W, A TS0 0 e al § # HEE 39S 3T R 99 i

[Question ID = 2432][Question Description = 197_08_Commerce_SEPT22_Q97]

1. Both (A) and (R) are true and (R) 1z the correct explanation of (4)

(A) 37T (R) T 579 2 37 (R). (&) F1 581 =mem = |

[Option ID = 9725]
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

(A} #7 (R) =M1 573 7, =34 (R). (A) F1 T71 === 795 2 |

[Option ID = 9726]
3. (Ayis true but (R) 1= false

(A) e 2, S (R) 59977 2 |
[Option ID = 9727]
4. (A)is false but (R) is true
(A) =573 2, @A (R) 959 7

[Option ID = 9728]



3)

Read the given passage and answer the gquestion.

Naik. AGM Materials, 1= fuming and fretting, He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table, shouted and walked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. bharely four months
after he took up his present assignment.

The year was 2021 when Naik quit the prestigious SAIL plant at Vishakapatnam.
As a manager materials. Naik enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's prior approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materialzs, The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. designation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyvptus pulp making company, little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an order by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld payment for the reason that the hill was not endorsed by Kamath. Kamath refused
to 21gn on the bill as his approval was not taken by Naik before placing the crder.

Naik felt fumizated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.

Naik decided to quit.
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What 1z the most ineffective in the organisation?

s # s Fromd 5 27

[Question ID = 2433][Question Description = 198_08_Commerce_SEPT22_Q98]

1.

2.

3.

4.

4)

Recruttment pohiey

(o i ¥

el AT

[Option ID = 9729]
Selection policy

Eoriiing
[Option ID = 9730]
Induction programme

[Option ID = 9731]
Promotion policy

T A

[Option ID = 9732]

Read the given passage and answer the question.

Naik. AGM Materials, is fuming and fretting, He bumped into Kamath. GM (Materialg), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Natk's bile and why he put in his papers. barely four months
after he took up his present assignment.

The year was 2021 when Nailk gquit the prestigious SAIL plant at Vishakapatnam.
As a manager materials. Naik enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody’s prior approval.

Naik joined a pulp-making plant located at Harihar in Karnatalka. as AGM MMaterials. The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. designation and reputation of the conglomerate lured Naik away from the
public sector steel monohth.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an order by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materialz arrived, were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the hll was net endorsed by Kamath. Kamath refused
to s1zn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumizated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to quit.
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The job of AGM materials iz to

[Question ID = 2434][Question Description = 199_08_Commerce_SEPT22_Q99]

1.

2.

3.

4.

Place order
e =

[Option ID = 9733]
Receive material

[Option ID = 9734]
Inspect material

[Option ID = 9735]
Issue materal

[Option ID = 9736]



5)

Read the given passage and answer the gquestion.

Naik. AGM Materials, 1= fuming and fretting, He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table, shouted and walked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. bharely four months
after he took up his present assignment.

The year was 2021 when Naik quit the prestigious SAIL plant at Vishakapatnam.
As a manager materials. Naik enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's prior approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materialzs, The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. designation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyvptus pulp making company, little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an order by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld payment for the reason that the hill was not endorsed by Kamath. Kamath refused
to 21gn on the bill as his approval was not taken by Naik before placing the crder.

Naik felt fumizated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to quit.
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Given below are two statements :

Statement I: Mp, Naik's presumption that he could place an order for materials worth
Rs.25 lakh was right.

Statement IT: Perks and reputation of the conglomerate were the reasons for My, Naik

joining the eucalyptus pulp malking company.

In the light of the above Statements. choose the most appropriate answer from the options

oiven below :
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[Question ID = 2435][Question Description = 200_08_Commerce_SEPT22_Q100]

- Both Statement I and Statement IT are correct

Fo (1) 377 (1D =1 #7817 |

[Option ID = 9737]
2. PBoth Statement I and Statement IT are incorrect

2 (D) =7 (1) 5F1 =8 =4 2 |

[Option ID = 9738]

3. Statement I is correct but Statement IT is incorrect

F29 (1) TF1 2, =1 F9F (1) 779 £ |

[Option ID = 9739]

4. Statement iz incorrect but Statement IT is correct

Fo (1) Ted B, Wi Fad (I0) 9951 2 |

[Option ID = 9740]
Topic:- GP_29SEPT22_SH2_S1_A

1)

The following table shows the percentaze (%) distribution of number of students qualifving an
Entran[fe Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifiing from School G 1n 2020 and 2021 are 90 and 135. respeciively. Based on the datain

the table, answer the gquestions 1-5:

Scheol-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%




Tt Aifersr § a9 2020 3 2021 ¥ A-G O9 el | gEe WE 3 SH (Sl e e #
T3 =1 Tfae (%) =9 T 2| e GoH 2020 A7 2021 9 AW fEEaE S w6 90 AN
135 2| AT ® =19 % WUE W WA -5 F I e

T fEmdE T e -aE

— ST i A (%)

2020 021
A 21% 23%
B 14% 8%
(& 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%

The percentage of the number of students gualifving from Schools A-G together in 2021 with
reference to 2020 1=

2020 1 G H 2021 7 A-G Tt @ 5wl et faenfaEi 61w #1 wiewd o 2 7

[Question ID = 2586][Question Description = 101_00_General_21_SEPT22_Q01]

1.

2.

3.

4.

2)

140%

[Option ID = 10341]
126%

[Option ID = 10342]
135%

[Option ID = 10343]

112%

[Option ID = 10344]

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G 1n the vears 2020 and 2021. The number of students
gqualifying from School G in 2028 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the gquestions 1-5:

Scheol-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%




Freefefiar anferan &

2020 37 2021 ¥ A-G O To=nea | v=e e 0 S0 FEmnaEl w6 oEE #

fareeeT =61 UiaiE (%) goien T 7| e G d 2020 9w 2021 F S0 et E g ween 90 31
135 2| Aifc © =13 % WNW W WA -5 F 5 e

T R e -aE e

EE e ST T A (%)

2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 158% 16%
F 9% 13%
= 12% 15%

The percent rise in the number of students qualifving from Schoeol D from 2020 to 2021 1s

-

a9 2020 T 2021 ¥ forne™m D @ 3w ety & gem | e gfoee 9t 22 27

[Question ID = 2587][Question Description = 102_00_General_21_SEPT22_Q02]

1.

2.

4.

3)

60 %
[Option ID = 10345]
63%
[Option ID = 10346]
68%

[Option ID = 10347]

T2%

[Option ID = 10348]

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G 1n the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:

School-wise Ihstribution of Qualified Students

School Distrbution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%




T A B a9 2020 3 2021 ¥ A-G He fEEveE | e e 8 S5 EEndeE 6o ae F
et =61 WiEE (%) o e B e GoH 2020 HE 2021 H S0 EEhE B S w5 90 Hn
135 2| affer # == F oUW W T 1 -5 I S

T TEmdE e -aE e

EE e AT T A (%)
2020 021
A 1% 23%
B 14% &%
C 16% 11%
D 10% 14%
E 18% 16%
F 8% 13%
(&3 12% 15%
Number of student qualifving from Schools E and G together in 2020 is % of the

number of students qualifying from School B 1n 2021,

e B 3 G 3 2020 § 361 Fenfden £ 5o o= fEmem B 3 2021 9 360 FentdEn & a5
fepAs Ui 2 7

[Question ID = 2588][Question Description = 103_00_General_21_SEPT22_Q03]

1.

2.

3.

4.

4)

158.5

[Option ID = 10349]
247.5

[Option ID = 10350]
3425

[Option ID = 10351]
312.6

[Option ID = 10352]

The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the guestions 1-5:

School-wise Distribution of Qualified Students

School Distributian (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8o
C 16% 11%
D 10% 14%
E 18% 16%
F 8% 13%
G 12% 15%




T A B a9 2020 3 2021 ¥ A-G He fEEveE | e e 8 S5 EEndeE 6o ae F
et =61 WiEE (%) o e B e GoH 2020 HE 2021 H S0 EEhE B S w5 90 Hn
135 2| affer # == F oUW W T 1 -5 I S

T TEmdE e -aE e

EE e ST T T A (%)

2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%,
E 18% 16%
F 9% 13%
& 12% 15%

If P and Q@ are the average number of students gualifying from Schools B, € and D in 2020
and from Schools E. F and G in 2021. respectively. then @ — P is

Tiz 7 2020 H Fene B, C 1 D # &R a9 2021 ¥ fo=medi E. F &0 G 8 360 i) &
FHa: P#N Q B, @1 Q- P a7
[Question ID = 2589][Question Description = 104_00_General_21_SEPT22_Q04]
1.
32

[Option ID = 10353]
2. e

3b
[Option ID = 10354]
3. 38
[Option ID = 10355]
4. A1
[Option ID = 10356]
5)

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:

School-wise Distribution of Qualified Students

School Distrbution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 80
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
&) 12% 15%




Aoy A@ere ® a9 2020 33 2021 9 A-G oW FEne @ wEm wiE 8§ S|l FEndE 6 wen #
T = wiEeE (%) T T 2| e G H 2020 @7 2021 ° I EEE o w5 00 310
135 2| 711 B =/ F 39W 7O 1-5 % 39 S

A= FHM TR A (%)
2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

The ratio of the number of students qualifving from Schools B. € and D in 2020 to that of
Schools E. F and G1in 2021 1s

faemem B, C &0 D @ 2020 H 39 [o=miaal = @ea & a9 2021 § e E. F & G | 349

TR &1 T | A o 6 ¢
[Question ID = 2590][Question Description = 105_00_General_21_SEPT22_Q05]
1. 23

[Option ID = 10357]
2. 51:75

[Option ID = 10358]
3 82

[Option ID = 10359]
4. 2533

[Option ID = 10360]
Topic:- GP_29SEPT22_SH2_S1_B

1)

Teacher *A’ uses chalk and board and dictates notes to students in classroom. Teacher ‘B uses
Videoconferencing tool and LALS for providing digital rescurces. Which modes of teaching are
uzed by teacher A and teacher BY

s

AT A FAT H ATF AN T (FE) FITEF FAA & AW DEl F A A28 o A

A B ez quygs 3uci=d #UH o foio =ifea) geie 1T UL U, UM, &1 3980 % Bl
HETF A’ HT FAATF B FEAGH 51 T | 0T GA S B 7

[Question ID = 2591][Question Description = 106_00_General_21_SEPT22_Q06]
1. Both online

;\.";AH'JH ‘?r

[Option ID = 10361]
2. Both offine

;-.._,J ::.



[Option ID = 10362]
3. Teacher —A: online : Teacher — B : offline

HATE A’ AH 59 ; AAF B AF A

[Option ID = 10363]
4. Teacher — A: offline : Teacher — B : online

HEATF A’ ATF A FATF B o1 @
[Option ID = 10364]

2) Which of the following tools can be used for ICT enabled teaching?

1341 4. gatda ssay & fou Fefafaa § @ $99 @ 390 & @ S awar e v

[Question ID = 2592][Question Description = 107_00_General_21_SEPT22_Q07]
Paper charts

FOTS F =2 (TEEn)

[Option ID = 10365]
2. Physical models

Hifae ulaey (d1sa)
[Option ID = 10366]

3. Projector

gafr (ursaEe)
[Option ID = 10367]

4. Black Board
TAH-TZ

[Option ID = 10368]

3) In the context of MOOCs in Higher Education in India. which of the following are

CORRECT?

{A) They are learner - centric

(B) They can be delivered only through SWAYAM portal

(C) Thev can benefit large number of learners

(D) They can be accessed anytime. anywhere and any number of times.

(E) ATl MOOCs are for earming eredit

Choose the correct answer from the options g@aven below !
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(&) 3 Torardi-FfEa =0 3
(B) 3 %A =aH (SWAYAM) 91261 & HIi=99 § &1 UnH [F0 A T 7
(©) = forenfia i fommer w=n =1 we TE W A
(D) 3 Tt ot gum, Tl O s9m W &R feadt o & sifafaa o = =50 20
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feu 0 TaeeTt § | WA 3 #5199 S
[Question ID = 2593][Question Description = 108_00_General_21_SEPT22_Q08]
1. A&DOnly
A A €L D
[Option ID = 10369]
2. C&DOnly
Fg C & D

3.

4.

4)

[Option ID = 10370]
A B & E Only

FaAA BHAT E

[Option ID = 10371]
A C &D Only

FAA A, CHT D

[Option ID = 10372]

Which of the following iz considered as the highest scale 1n measurement’

]

g9 1 T 9 Heforiaa § 9 fom 919t =1 3=909 994 99 9] 27

[Question ID = 2594][Question Description = 109_00_General_21_SEPT22_Q09]
Npminal

1.

2.

3.

4.

ATHF

[Option ID = 10373]
Ordinal

FH-TaF

[Option ID = 10374]
Interval

Heddled

[Option ID = 10375]

Ratio

kRl

o |



[Option ID = 10376]

) In which of the following methods of teaching. the student has to find out the answer to
his/her own problem by unaided efforts?

fr=fafian 5 & sraame & g agfa 5 om 51 B 5 ge2mm & A =] gr & A9 99 5 S
THT TEd 2 7

[Question ID = 2595][Question Description = 110_00_General_21_SEPT22_Q10]

1 Case-study method

T (FE) -

[Option ID = 10377]

2. Heuristic method

[Option ID = 10378]
3. Fhpped classroom method

aftataa (ffees) em wgfa

[Option ID = 10379]
4. Demonstration method

L
REEI qui 1
[Option ID = 10380]

6) A systematic review of literature adopts

aifere &1 gematedn T § fefatan 5 9 fFan i i sm 27

[Question ID = 2596][Question Description = 111_00_General_21_SEPT22_Q11]
1. Explicit procedures

D 2 -f' ﬁ;-:

[Option ID = 10381]
z. Implicit procedures

~ e

fafed s=goTieTa

[Option ID = 10382]
3. Personal-choice procedures

[Option ID = 10383]
4. Peer-suggested procedures

HHFA - FHTE]

[Option ID = 10384]



7) A major focus In guantitative reseavch is on

HIATHS

[Question |

o ity

I § T BIFE Mg § 9 6 WA et

D = 2597][Question Description = 112_00_General_21_SEPT22_Q12]

1. Historicity

-

<, r_‘i £
[Option ID = 10385]
2. Causality
ai [ .
[Option ID = 10386]
3. Social reflections
[ a = [l
HHT=E \ﬁj]‘-‘-lﬂ"i

[Option ID = 10387]
4. Creating an artificial environment

[Option ID = 10388]

8)

(A)
(B)
(C)
(48}
(E)

Which of the following are useful tips in preparing guestions for a structured interview?

Introductory guestions should be related to pleasantries.
Introductory questions should be related to the research topic.
Questions can be grouped. if the list of questions 1s long.
General questions should precede specific questions.

Repeat the personal questions again and again to test the truthfulness of the reponses
of the interewee.

Choose the correct ansiwer from the options given helow :

iy 5 i

HTf=T |IEATCFT & o1 Y99 G40 94 § He=ieingd § 9 @A 9 d 8 7

(A)
(B)
(©)
(D)
(E)

AT WIH HATEL AN B 2 =1E0)
ANTYF 79 I T I HEiag 24 =J0ev)

T oo H=1 &l B 91 9gA F1 IgEeg A 91 991 2
Rl I Bl 1 A1 F TR

T WS e W # @ w9

TIATRT o ATeT o 3 o] T=A1% ol TEs & (o0 SAMHTT 9741 F.1 Fi-1 7Es|

fau u famredl § 9 95 3 %1 =4 Fia0

[Question

ID = 2598][Question Description = 113_00_General_21_SEPT22_Q13]

1. A B COnly

A, B, C



[Option ID = 10389]
2. A C.DOnly

FaAA.C.D

[Option ID = 10390]

3. B, C.DOnly

99 B, C.D

[Option ID = 10391]

4 A D.EOnly

1.

Fad A D. E

[Option ID = 10392]

9 Which of the following are types of error in survey research?
(A) Sample error
(B) Source error
(C) Ohservational error
(D) Data collection errvor
(E) Data processing error

Choose the correct answer from the options given below :
feferfiga 4 9 =5 9 3fen maam wmE § 2 2 7
(&)  wfte 32
(B) @M IR

() SEEEE A
(D) =@ EEm A

(E) =@ w3

fou o fasredi § & T8 3 7 wAe it

[Question ID = 2599][Question Description = 114_00_General_21_SEPT22_Q14]
A.B. C Only

Fa4 A.B. C

[Option ID = 10393]

2. B.C.DOnly

3.

4.

3@ B. C. D
[Option ID = 10394]
B.D.E Only
%97 B, D. E

[Option ID = 10395]
A D. E Only



F99A.D. E

[Option ID = 10396]

1 i
0 Given below are two statements :

Statement I :  Often gqualitative studies provide too many details of the setting that are
investigated.

Statement IT :  Crities point out that gualitative research suffers from the 1zsue of
replication.

In the light of the above statements. choose the éorrect answer from the options given helow

-~

= 71 e feu nu E .

FOA [ RS SIS SR e TR 9 @ wieEe @ e st e vEe w2

FgA [1: = 4 sfm fFn 2 fF e g et 6 owen 3 o 2

I U AT °, A9 70 7 fGwmeT 8§ w9 39 F) =59 Hia

[Question ID = 2600][Question Description = 115_00_General_21_SEPT22_Q15]

1. Both Statement I and Statement IT ave tiue

Fo 1 SR II =1 99 &

[Option ID = 10397]
2. Both Statement I and Statement I1 are falze

F99 [ S 11 =M1 “aea 2

[Option ID = 10398]
3. Statement I is true but Statement II 1= false

99 1577 2, oo #9591l F97 7

[Option ID = 10399]
4. Statement [1is false but Statement IT is true

F99 1 35eg 2, il %99 11 &g 2

[Option ID = 10400]



11 . . . . . _ :
) In communication, a high order of inference drawn from experience, direct or indirect, 1=

responsible for

[T Y - Y

FEMY  SE A e T d S99 8 el Uk 3= e ) sEia Sefotan § 8 fege fou s
7

e

5

[Question ID = 2601][Question Description = 116_00_General_21_SEPT22_Q16]

1. Generalization

AT
[Option ID = 10401]
Simplification

-

EE B ]|

[Option ID = 10402]
3. Abstraction

[Option ID = 10403]
4. Strong reaction

T = ﬁ ™~
[Option ID = 10404]

12) In which context. the true effects of mass media communication on mass audience can be

under stood?

Tt ¥ feg wed | 91y e & TEN & SATE AT 59 S U w9l TS S a9 5 BT 8 7

[Question ID = 2602][Question Description = 117_00_General_21_SEPT22_Q17]

- Economic

[Option ID = 10405]

2 Social

AHETTF

[Option ID = 10406]
3. Political

[Option ID = 10407]
4. Spiritual

[Option ID = 10408]



13 . . . . .
) When 1t comes fo knowledge-shanmng. the important aspects of communication are :

{A) The supply side

(B) The demand side

(C) The policy currents

(D) The push and pull of policy makers
(E) The choice of filters

Choose the correct answer from the options given below :
Eog. = e =
WA ST AT AT WA 2 A AR o HEea Ul 94 A

(A) =79 TE

(B) = U4

(€)  iE e
(D) it EmS F1 9F H@E maE
(Ey  Toezr-fawe

o U Tredl § ° O I 97 949 Sitan

[Question ID = 2603][Question Description = 118_00_General_21_SEPT22_Q18]
. A B.COnly

Faa A. B, C

[Option ID = 10409]
2. B. .0 DOnly

F49 B, C.D

[Option ID = 10410]
3. C.D.EOnly

Faa C. D. E

[Option ID = 10411]
4 A D EOnly

FFA A D. E

[Option ID = 10412]



14 .
) iven below are two statements :

Statement T :  Communication and socialisation are two non-convergent dimensions of

any modern society,

Statement 1T : Communication enables the promotion of values that faeilitate the

process of enculturisation of people 1In a society.
In the lizght of the above statements. choose the correct answer from the options given helow :

S

= =1 e R o .

FAT L HEMET S FEEE G i e # A -aten o 2

FUF I1: T 3 HeAl &1 NEHTET o4 § 95H FAa] 8, A GHE H S0 % SR 6l T @
TTH FAT 2
I FUA & A H, A 50 0 e § # HE 39 6 =4 i

[Question ID = 2604][Question Description = 119_00_General_21_SEPT22_Q19]

1. Both Statement T and Statement 1T are true

Fyq 1 37 1L 2F] 979 2

[Option ID = 10413]

2. Both Statement I and Statement IT are falze

[Option ID = 10414]
3. Statement I1s true but Statement IT is false

Ty I T 2, Sifehd 99 11 #9e9 7

[Option ID = 10415]
4. Statement Iis false but Statement II 1= trae

™

FuH I AGeH 2., olfad &9 [ 8c9 &

[Option ID = 10416]



15)
Given below are two statements : One is labelled as Asserticn A and the other is:Iabelled as

Reason R.
Assertion (4):  Commumnication has the power to persuade, inform and disinform,
Reasons (R) : The process of propaganda makes the Dhine of distinetion transparent

between its elements for being persuasive.

In the hight of the above statements, choose the correect answer from the options given

below:

 maSlIE e

F= =1 YA fou T 2 ;U AHEed (Assertion (A)) F ¥ H fafigd 2 @1 gH0 39F FH0 (Reasons (R))

ATFST (A) - TEmEY H v 3w, g0 S S e g9 51 S I B 2
F (R) SAfayEn (W) @ ulE fAYe 1 - e Aeadenes ael # s

TREI =T 2

SULITh YA o AT §, A 160 U Hewedl § o gaf 3T % 949 wifay

[Question ID = 2605][Question Description = 120_00_General_21_SEPT22_Q20]

- Both A and R are true and R is the correct explanation of A

(A) $1 (R) 5H @7 2 AT (R), (A) F1 T8 == 2
[Option ID = 10417]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 31 (R) ZH1 @ed 2, ofed (R), (A) 1 @dt = 75 2

[Option ID = 10418]
3. A= true but R is falze

(A) Te 2, A (R) #8092

[Option ID = 10419]
4. Ajis false but R is trae

(A) #EeI 2, Siieq (R) &9 2

[Option ID = 10420]

16) There are three numbers in the ratio of 3:5:7 and the sum of these numbers 1z 975. Find the

three numhbers,



o TSl 1 AT SHA 3:5:7 2 S 39 Fel A0 075 B F diF @ S =] 2 7

[Question ID = 2606][Question Description = 121_00_General_21_SEPT22_Q21]
1. 195. 325. 455
[Option ID = 10421]
2. 325,195, 455
[Option ID = 10422]
3. 145, 310470
[Option ID = 10423]
4. 205, 315, 455

[Option ID = 10424]

17 , ) . — . .
) The simple intevest accrued on a sum of certain principal 1= Bs. 1200 in 4 years at the rate of

8% per annum. What would be the simple interest acerued on thrice of that principle at the

rate of 6% per annum in 3 years?
8% 1 AME 2 F 4 WA W A qEEE W 1200 ¥ CAGEN = F T 7 §HG Z01 30 A F o
A T 6% “h1 I o H 3 WS § haeT WO =S 36 2 ¢

[Question ID = 2607][Question Description = 122_00_General_21_SEPT22_Q22]

1. 9150
[Option ID = 10425]
2. 9060

[Option ID = 10426]
3. 2025

[Option ID = 10427]
4. 2100

[Option ID = 10428]

18)  Find the next term in the following sertes: 1.2.4. 6. 7. 18. 10. 54. 7

Feferiian Jaen 3 e us # 2: 1.2.4.6. 7. 18, 10. 54, ?

[Question ID = 2608][Question Description = 123_00_General_21_SEPT22_Q23]

1. 162

[Option ID = 10429]
2 13

[Option ID = 10430]
3. G4

[Option ID = 10431]
4. 79

[Option ID = 10432]

19) . . . . .
In a certain coding language, 1f 'CRICKET is coded as 2632470, "ROCEET 1s coded as

612479, and 'KETTLE' is coded as 479907, then how LOCKER’ shall be coded in that

langauge?



af; ol %2 W § "CRICKET #1 %2 2632479 2, ROCKET %1 2 612479 2, 3 ‘KETTLE #i
%2 479907 2, 79 38 991 § ‘LOCKER' &1 %2 %41 #11?

[Question ID = 2609][Question Description = 124_00_General_21_SEPT22_Q24]

1 102674
[Option ID = 10433]
2. 021647
[Option ID = 10434]
3 120764
[Option ID = 10435]
4. 012476

[Option ID = 10436]

20) On allowing two succeszive discounts of 20% and 15%. the selling price of an article becomes

Rs. 3060, What is the marked price of the article?

Tt == % T gea o0 20% @i 15% i 71 I G2 oF T SHF (954 g79 . 3060 7 S 2| 3|
TEq FT SfRT T T 22

[Question ID = 2610][Question Description = 125_00_General_21_SEPT22_Q25]

1. 4000

[Option ID = 10437]
2. 4100

[Option ID = 10438]
3. 4900

[Option ID = 10439]
4. 4500

[Option ID = 10440]

21)
If 'some men are vegetarians' 1s given as false. which of the following can be inferred to be
true from it?

(A) All imen are végetarians,

(B) No men are vegetarians.

(C) Some men are not vegetarians.
(D} ATl non-vegetarians are men.

Choose the correct answer from the options given below :

Il “Fo S ATRERT £ TeE B9 8 {5 T # a1 Feienae 8 ° B Aed sAnae T S gl 7Y
(B) = i BT I AR 7

(C) 3 TT=A WA TE 2

(D) = -IEEEE T A

oo T AT © 5 T I = A




[Question ID = 2611][Question Description = 126_00_General_21_SEPT22_Q26]
1. A Band C Only
Fad A Ba C
[Option ID = 10441]
2. B.CandD Only
Faet B, C 5t D
[Option ID = 10442]

3. BandCOnly
a9+ B 3 C
[Option ID = 10443]

4. C Only
e C

[Option ID = 10444]

22 ; x 7 i > .
) For which of the following forms of categorical propositions conversion is valid?

(A) Some S1= P

(B) Some S 1= not P
(C) NoSi=P

(D) AllSi1sP

Choose the correct answer from the options given below :

T AT F e TE | ° e uiEe 3 20
(A Fm 'S P EEE

® Fm 'S P ETAE

(C) s P FF R

(D) =49 'S P Em

fou 7w faem ® 6 WA T 1 == A

[Question ID = 2612][Question Description = 127_00_General_21_SEPT22_Q27]
' A B.C.D Only

a5 A.B.C.D

[Option ID = 10445]
2. A CandD Only

FAAA CHRE D
[Option ID = 10446]
3. B,CandD Only
F=5 B, CAR D

[Option ID = 10447]
4 A BandD Only



Faa A. B3 D

[Option ID = 10448]

23)

Depending on the intention which of the following logical mnformal fallacies may be mvelved
in the following argument — T am shocked to hear you preaching atheism. Does vour father
know you believe that?

(A)  Appeal to authority

(B)  Appeal to emotion

(Cy  Appeal to majority

(D) Appeal to force

Choosze the correct answer from the options given helow :

AT T AT HEETEd § | FE ° A SATRNE 21 g a9 5 5iaiEd 7 a9 27

AT T 3959 F YA B Eaed | 1 S19F 9A1 95 A A T 98 35 99 A7

{A)
B
(Cy
(D)

g ATE

W AT B o R 590 9 =99 A

[Question ID = 2613][Question Description = 128_00_General_21_SEPT22_Q28]
1. Aand D Only

Faa A#RD

[Option ID = 10449]
2. Aand B Only

Fa9 A 5T B

[Option ID = 10450]
3. BandD Only

F49 B &7 D

[Option ID = 10451]

4.

B and C Only

Fa= B w51 C

[Option ID = 10452]



24 .
) iven below are two statements :

Statement 1 :  In svartha Anumana (inference for oneself) we do not require a formal
statement of the different members of inference, according to Nyava

view of inferernce.

Statement 11 :  Svartha Anumana i1s a psychological process.

In the light of the above statements. choose the correct answer from the options given below

[

E b e i e B0

TR L IEAR F AW W OF AT A 9ENE T 7 SHAE R T o F sfimenid wes A

= o R
AF7AHRAl =] 7l &

FoA I1: T ST TR T A

A FAA F ST 1, 4 5 e § A aeE I S 6 96 S

[Question ID = 2614][Question Description = 129_00_General_21_SEPT22_Q29]

1.

2.

3.

4.

Both Statement I and Statement II are correct
F94 T 50 o 981 &

[Option ID = 10453]

Both Statement I and Statement I are ineorrect

[Option ID = 10454]

Statement I is-correet but Statement I is incorrect

Fo 1 B 2, =i 94 I e =

[Option ID = 10455]

Statement [ is incorreet but Statement II 1s correct

Foq 17994 &, @A F94 [LH7 7

[Option ID = 10456]



25 ;
) Given below are two statements :

Statement I : Anstotehan svllogism 1s essentially verbalistic,
Statement IT - Nyaya system recognizes the fact that the verbal form is the essence of
inference,

In the hight of the above statements. choose the most appropriate answer from the options

ziven helow :

TE A FAE T TWE

FA 1 AR AEEE g TieeE 7 A

Fod IL: =T TS 39 799 T 5] TEE Al 7 1 O =9 S9AE H A A

IWE T F AW 5, 99 50 T GEed 3 A TEE 300 I 6 =9 i

[Question ID = 2615][Question Description = 130_00_General_21_SEPT22_Q30]

- Both Statement I and Statement II are correct

w1 7 oA o9 7
[Option ID = 10457]
2. PBoth Statement I'and Statement II are incorrect
o [ 51 I 5[ 74 =

[Option ID = 10458]
3. Btatement I1s correct but Statement IT is incorrect

oo r e o e 1 o e oo o I [ T
[Option ID = 10459]

4. Statement I1s Incorrect but Statement IT 1= correct

F94 1 T4 7. = F94 [ A8
[Option ID = 10460]

26) Miss Reena has been appointed by the Cyber Security Cell of Mumbai to break into the
website of a terrorist organization to extract information. What among the following 1= a

suitable deseription of Reena's profile?

TEE F A A TRE 7 UH AEAT 5eA Hadl g1 e o o, S JeEEe § g9iE 7 e
i 1 Tl 1 21 91 e 0 e 5 | R w0 e e 27

[Question ID = 2616][Question Description = 131_00_General_21_SEPT22_Q31]
1. Haetivist



[Option ID = 10461]
2. Fthical Hacker

[Option ID = 10462]
3. Troller

;.

[Option ID = 10463]
4. Black hat hacker

[Option ID = 10464]

27 ;
) Given below are two statements :
Statement I : 8 megabytes = 212 gigabytes
Statement II :  The decimal eguivalent of the binary number (11101.101)2 15 (29.625)10.

In the Iight of the above statements. choose the correct answer from the options given below :
EIERAG e R
FeA I 8 HTERe = 2B AT
T I1:  To=e T (11101.101), 71 S9H=" G001 (29.625),, 71

T FEE F AT A, 91 B W e O 8 w8 5w = i

[Question ID = 2617][Question Description = 132_00_General_21_SEPT22_Q32]
1. Both Statement I and Statement IT are true

[Option ID = 10465]
2. Both Statement I and Statement II are false

w1 5 [ =F a5 7

[Option ID = 10466]
3. Statement Iis true but Statement II is false

2 1979 2, <irea 594 11 si9eg 2

[Option ID = 10467]

4. Statement I is false but Statement II is true
T [ 55 7, @9 94 Do 2

[Option ID = 10468]



28 . i
) Which of the following statements are correct?

Principal components of a CPU in a computer include:

(A) The Solid State Drive (S88D) that storez data perristently. typically using flash
MIEmory.

(B)  The Anthmetic-Logic Unit (ALT) that performs arithmetic and logic operations.

(<) Processor registers that supply operands to the ALU and stores the results of ALU
operation.

(Il The Control Unit (CU) that orchestrates the fetching (from memory). decoding and
execution of instructions,

Choose the correct answer from the options given helow :
FrefetEs @ 9 %9 ° F99 991 5 7
FAZ F | N F UHE A § o A
(A o = T ew w1 TET S A ST 9w A 2 5nd (THuEd)
(B)  FHTIOHIE § R T B AR T T (T )
(C)  © U g T AISA T A HIT T U g T ORGSR Fe S e ey

(D) (i A) =0, T A S92 & FE e TR A v ()

L Ll e e | = B B s L B e 1 0k

[Question ID = 2618][Question Description = 133_00_General_21_SEPT22_Q33]
1. A Band C Only

Fad A BHTC

[Option ID = 10469]
2. B, CandD Only

Fa5 B. C s D

[Option ID = 10470]
3. Band C Only

FaA B #57 C

[Option ID = 10471]
4 AandD Only

Fad A @D
[Option ID = 10472]

2 ; g ;
%) Which of the following statements ave correct regarding VoL TE?

{A) VoLTE stands for Voice over Long Term Evalution'.
(B) It is a digital packet voice service delivery over IP via an LTE aceess network.
(T Provides more efficient use of spectrum than traditional voice,

(D) Ehminates the need to have volce on one network and data on ancther network.

Choose the correct answer from the options given below :



A F H9g H FEiEEd A 8 w0 9 w0 5E 2 7
(A)  HterediEs g0 =9 ¢ CSEE S A 28 e

ﬁ

(B) T T UeTAlE ST AZah % ANU SE 01 W (Sieee g% aEd ated tsiea A

(C) == WA T i g9 O PI9EE W SIS FI STEE TEE A A

70 T faFedl 5 | Hel T = AR

[Question ID = 2619][Question Description = 134_00_General_21_SEPT22_Q34]
. A B. CandD Only

FaF A B.CEHED

[Option ID = 10473]
2. B.CandD Only

a5 B, C 57 D
[Option ID = 10474]
3. A BandC Only
FaA A, Baw C

[Option ID = 10475]
4 A CandD Only

FaA A CHRD
[Option ID = 10476]

30 What 1= the concept of International Net Neutrality?

ATILTE 2 (FaEa] 1 Tl 41 7

[Question ID = 2620][Question Description = 135_00_General_21_SEPT22_Q35]

- Imposed limitations for end-to-end Internet access

T R W TE T A s Atge o st aieeea

[Option ID = 10477]
2. Broadband service providers can show preference to content

L A i M e 2 e 700%1 e C  n] A  e ez E ed
[Option ID = 10478]

3. Unimpeded end. to-end Internet access and uzage
v T T TE (AT q S e e AT A

[Option ID = 10479]
4. All content that flows throughout the Internet should not be freated equally.

o e e e (2 i | L e o M e B o e - e = B 1 8 o | Y

[Option ID = 10480]



31 ;
) Given below are two statements :

Statement I :  All patential pallutants are synthetic chemicals.

Many of the emerging contaminants have been observed to

bioaccumulate in wildlife and humans.

Statement II
In the light of the above statements, choose the correct answer from the options given below :

9 FE L E
FoA IL: A0 39 FTR A A FE A AANOT AT H FT-HArm w6 e A

T FUA F AR 9, A 0 T e 5 O HE 3 R =9 A

[Question ID = 2621][Question Description = 136_00_General_21_SEPT22_Q36]
1. Both Statement I and Statement IT are true

[Option ID = 10481]
2. Both Statement I and Statement IT ave false

9 1 3w I 5F] 39 7

[Option ID = 10482]
3. Btatement I iz true but Statement II is false

FoA 1974 2, o 94 [ w05 7

[Option ID = 10483]
4. Siatement I is false but Statement IT 1= true

F44 1 51503 7, 79 0 LA 7

[Option ID = 10484]
32) i : ;
Typhod fever. a water born disease 1= caused by

AT (ZIEHIES) UF Sei—AMd 10 2 H 95 | 951 7l 2 -

[Question ID = 2622][Question Description = 137_00_General_21_SEPT22_Q37]

1. Virus
Tamm (=)
[Option ID = 10485]
2. PBacteria
aﬁ r!! I

[Option ID = 10486]

Protozoan
[Option ID = 10487]
4. Helmunth

i

=4



[Option ID = 10488]

33) Given below are two statements ;
Statement I :  Increasingly. photovoltaic panels are being used to supplement electrical
energy from the power grid.
Statement II :  One 1ssue with grd-connected photovoltaics is that PV cells produce
Alternating Current (AC) whereas powergrids use Divect Current (DC)
In the light of the above statements, choose the correct answer from the options given below :
R B o g e 1
FoA1:  uE O F fEn S W w9 # F 9 TEe-aEE 92 F I9EE SeA o 5 2
Fo I s B 9= 790 9eE 350 % W4 UF G051 97 ¢ 06 o gedmEatgm (Ta) 3o e A
FEPE S-S TR g (SUHL ) T I e 2
I FAA B HETE 9, 99 5T e | 9 wE 3 6 w9 A

[Question ID = 2623][Question Description = 138_00_General_21_SEPT22_Q38]
1. Both Statenmient I and Statement II ave corvect

[Option ID = 10489]
2. Both Statement T and Statement IT are incorrect

oA 137 I 5F e 2

[Option ID = 10490]

3. Statement I is correct but Statement IT is incorrect

Fe[H 1 O7 2, & 99 7o 2

[Option ID = 10491]
4. Btatement Iis in correct but Statement IT iz correct

F49 1774 B, 90T %R [ ad &

[Option ID = 10492]

34)
Given below are two statements : One 1= 1abelled as Assertion A and the other 1= Iabelled as
Reason R.
Assertion (A) : Chlorofluoracarbons (CFCs) are potent greenhouse gases,
Reaszons (R) : CFCs have the ability to catalytically destroy ozone in stratosphere.

In the light of the above statements. choose the most appropriate answer from the options

given helow :



I = FEH WU E  UF 999 (Assertion (A)) F FI T @ 7 7 T 30F FA0 (Reasons (R))

FEIH ;
AR (A) FATIFATT a8 (H1.7%, H0 ) 76 T=emsE 11 7
= (R) : .o Hi T | FEaTEEE | S F ISR T A T2 F A w2

STTE B F AW 5, 49 50 00 e § | 598 39 I 6 w9 e

[Question ID = 2624][Question Description = 139_00_General_21_SEPT22_Q39]

. Both (A) and (R) are correct and (R) iz the correct explanation of (A)

A 37 R=M1 &9 & 3R R, A I &= ==ame 7
[Option ID = 10493]

2. Both {A) and (R) are correct but (R)is NOT the correct explanation of (A)

A #1 R =0 581 2, At R, A1 978 = 9 2
[Option ID = 10494]

3. (A) iz correct but (R) is not correct

ATE 2, w9 R A8 74 7
[Option ID = 10495]
{A) 15 not correct but (R) 1s correct
ATfaF 2, A Roa =

[Option ID = 10496]

33) Global warming can lead to/aggravate which of the followimg natural disasters?

(&) Draught

(B) Earthguake
() Flood

(D) Storm

Choose the correct answer from the options ziven below :
TeferEa B | FE H T 9, YEsed 91 9ieas O ° 3994/ e T 7 AEal 2
(A)  TmE

(B) 9w
(C) =g

D)  qFH

oo T faFTl 8 | =59 3 W 99 Fan

[Question ID = 2625][Question Description = 140_00_General_21_SEPT22_Q40]
1. A B COnly

Fa7 A B. C

[Option ID = 10497]



2. A C.DOnly

Faa A C.D

[Option ID = 10498]
3. B.C.DOnly

FTAB.C.D

[Option ID = 10499]
4. B, D Only

FT9B. D
[Option ID = 10500]

36) In India. much of the Central Government expenditure on general higher education is routed
through

EE © WE 3= 19T T OEE G e R R = R 5T O RmT R Y
[Question ID = 2626][Question Description = 141_00_General_21_SEPT22_Q41]

" Natural Council of Teacher Education.

e S A e
[Option ID = 10501]
2. All India Couneil for Technical education
[Option ID = 10502]
3. University Grants Commission
[Option ID = 10503]
4. National Council for Educational Research and Training.

[Option ID = 10504]

37) According to current estimate. the gross envolment ratio in Higher Education in India is
around 27%, which iz expected to be increased to...........hy the end of 2035.

AR FIAA F AGE W, T G WS A g S 27% B e 2035 F 5= T
[Question ID = 2627][Question Description = 142_00_General_21_SEPT22_Q42]
- 30%
[Option ID = 10505]
2 40%
[Option ID = 10506]
3 50%
[Option ID = 10507]
4. 60%

[Option ID = 10508]



38) Given below are two statements :

Statement I : In India increasing access to higher education has been constrained by

low completion rates at secondary education stage.

Statement II : By 2080, all multidisciplinary higher education institutions will be

closed down.
In the light of the above statements, choose the correct answer from the options given below :
4= 7 FuE G

FoF [: HEA H = W 9% TES H Sel WS e 6w W e 9w o e s

=
ml =l

Fod I0: 9 2030 7 @Y1 SEfeas 3= 0 e e T

[Question ID = 2628][Question Description = 143_00_General_21_SEPT22_Q43]
1. Both Statement [ and Statement I are true
a7 [ 51w I1 591 &ed 7
[Option ID = 10509]
2. Both Statement [ and Statement II ave false

[Option ID = 10510]
3. Btatement Iis true but Statement IT is false

[Option ID = 10511]
4. Btatement [ 1z false but Statement IT iz true
F9a 1 37073 2, =i e 11 o0 2

[Option ID = 10512]

39
) Broad parameters adopted by National Institutional Ranking Framework (NIRF) are

(&) Teaching. learning and Resources
(B) Graduation outcomes

(C) Outreach and Inclusivity

(D) Peer perception

(E) Low Carbon footprint

Choose the most appropriate answer from the options given below :



T HETEE i = (NIRF) g A9 70 =09 Hiasi 8 A B
(Ay  I1eAgE. afam & amas

(B) A = F AT

(C) wEW A gEE

(D) =FFal 1 anon

(E) 4= =4 w58

Ton T fwel © 1§ 98 I W =9 A

[Question ID = 2629][Question Description = 144_00_General_21_SEPT22_Q44]
. A B.C.DOnly

9 A B.C.D

[Option ID = 10513]
2. A B.D,E Only

Fa7 A B.D.E

[Option ID = 10514]
3. B.C.D.EOnly

a4 B.C.D. E

[Option ID = 10515]
4 A C.D.EOnly

Fa9 A, C. D, E
[Option ID = 10516]

40) Which University in India was first to throw all University examinations open to girls?

YEA % FSfenEd 3§ hE EvEEEerd 4 Ysdll af oqSrRdl # 00 [EvarEaeg Hi 24 9iem e s
7

[Question ID = 2630][Question Description = 145_00_General_21_SEPT22_Q45]
1. Punjab University

[Option ID = 10517]
2. (Caleutta University

FAFHAT [T

[Option ID = 10518]
3. Savitribal Phule University

e r B b ©
HIEEEE T iEIJa IR

[Option ID = 10519]
Bombay University

4.

[Option ID = 10520]



Topic:- GP_29SEPT22_SH2_S1_C

1)

Read the following passage and answer gquestions from guestions 46 to 50

The conceptions and treatment of poverty were gquite different before 1940, In colonial times
the concern with poverty was conditioned by the helief that even if the natives could be
somewhat enlightened by the presenece of the coloniser. not much could be done about theiwr
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv, the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societiez had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, As a result. 1t deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izzues hecame inevitable.

It 12 mmpertant to know the break that cccurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe. and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occcupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modernization

of poverty invariably affected vernacular relations.

FelEEa T gl A1 uTE = 46-50 F I A

T 1940 T TEe FEAA7 HER RO AT {S90=E 950 990 TEE F 2| SANEEeTE w9 FHeaE F 0
A= o fEm A vaiEa d R S sl 9o # geeanie 4TS "R S -aeT S
UTE, I YA &AW H OS] EY A AT S 2Tl UHT SET A1 T S ANGE T
el o) sl wle % aw =EE S TR % S § G F1 SEa w9 991 S
3| T2 TS 2 9 sl o 5 sAatEene W Ee 9 39 o S - Fien WeEe 3 el Hi
foa-Tag =0 =) TRomEA: $EA FAS] AT W N, WA HE AW qEradl H e S T s
W T HRR T F Y ST T Aol S i 21 | g gt anmedt 3 v

T v fa=gs 1 F9A meE 7, TR @was A F H YAAR F I WE 5 S Swad aeeg A
AT g | T F AR F W B YA fa=an W avE SdmEl T 3 JeA F me == # o
e eyt e e 2o e i o 2 0 B £ 1t £ o e B | B o = o R e o s 1 B2
TFO B AEREE F OF TEAT T4E 2| [ F WA W A 6 S T TR IR w5
1| I F SEAE T AR EY RS9 W O

Before 1940. colonisers believed that poor countries

T 1940 H T5e SAAEETEA 1 =vamE ar = e g

[Question ID = 2631][Question Description = 146_00_General_21_SEPT22_Q46]

1.

Can he changed

e o T 2]

[Option ID = 10521]

2. Can be totally enlightened
A SFHET S A AT 2
[Option ID = 10522]
3.

Cannot be changed



4. Do not need their presence
=& [ i T Y e o [
SHFATTETZAT =hl 9414 ?ﬁl HETFHRAT A7 7|
[Option ID = 10524]
2)

T2l wnel A Gl R

[Option ID = 10523]

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.

M TeTiEE TN gigd HIT U HE 46-50 % 39 20

T 1940 T e FdAW T 9n $F EEEs w9 TEE F 9| S9REnTE Fe 9 Heaa F 0
AT $9 AW R OUHEA H TR SUEERE i S 0 A geEies w ATST S TS S
U, I A AR H S Ew AA AT 1 HEaT] UHT SElAT A1 FAIE 39 ANAE TR
e 1| ST e F AT A A T & g ¥ G i e I e A

7| 7= T= 2 T AT 991 8 A= Hae e a9 391 96 S - Fiew AU § ggnEl
foa-Tag =7 =) aienmEa: $EA FAS] AP W ONE, W S 3 qEieAl H GG #9151 Sren-

AT F GERE F O SR T el T, A w1 | A T e 37 g
T 0 fa=sm F T S R, TR 9=9n A T AEn F 35 A9 5N S Sadt wess
AT g | T F AT F W g1 9E 9w W avE el amre § WA § W SaEn & e
= SHETUTET R 359 T RO A1 E A A T 5E1 TEE S S SEET 9 e 971 50
FFON T AROEE F UF TEeA T4E 2| FHEA % HEEdt W A 8 =9 & e aiems w5

o) A1 F AR T O S H SO AT R T

The Vernacular societies encountered economic poverty with

=TS TETST | SF T I e mean o e

[Question ID = 2632][Question Description = 147_00_General_21_SEPT22_Q47]

1.

Selence and technology



4.

3)

ERIER e T
[Option ID = 10525]
External aid

G »:’i EEEL]

[Option ID = 10526]
Modern ideas
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[Option ID = 10527]
Use of resources sparingly
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[Option ID = 10528]

Read the following passage and answer gquestions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the behef that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular sociefles had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izsues became inevitable.

It 1= 1mportant to know the break that cccwrred in the conceptions and management of
‘poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation
of poverty invariably affected vernacular relations.
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The market economy was responsible for
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2.
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4.
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Increased access to resources

[Option ID = 10529]
Massive poverty
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[Option ID = 10530]
Enlightened development

[Option ID = 10531]
Idealisation of tradition
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[Option ID = 10532]

Read the following passage and answer questions from questions 46 to 30

The conceptions and treatment of poverty were guite different before 1940, In colomial times
the concern with poverty was conditioned by the helief that even if the natives could be
somewhat enlichtened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societiez had developed
wayvs of defining and treating poverty that accommodated visions of commumity. frugality.
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1zsues became inevitable.

It 1= 1mportant to know the break that occwrred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occupiled an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernigation
of poverty invariably affected vernacular relations,
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Capitalistie development introduced the idea of
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1. Modernised poverty
SR E AT
[Option ID = 10533]

Impersonal institutions
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3. Third world
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[Option ID = 10535]
4. Vernacular relations
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5)

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of
‘poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.

M TeTiEE TN gigd HIT U HE 46-50 % 39 20

T 1940 T e FdAW T 9n $F EEEs w9 TEE F 9| S9REnTE Fe 9 Heaa F 0
AT $9 AW R OUHEA H TR SUEERE i S 0 A geEies w ATST S TS S
U, I A AR H S Ew AA AT 1 HEaT] UHT SElAT A1 FAIE 39 ANAE TR
e 1| ST e F AT A A T & g ¥ G i e I e A

7| 7= T= 2 T AT 991 8 A= Hae e a9 391 96 S - Fiew AU § ggnEl
foa-Tag =7 =) aienmEa: $EA FAS] AP W ONE, W S 3 qEieAl H GG #9151 Sren-

AT F GERE F O SR T el T, A w1 | A T e 37 g
T 0 fa=sm F T S R, TR 9=9n A T AEn F 35 A9 5N S Sadt wess
=t g 7 fowm % AT W 5| Tee (e F A SHEel el 8 HEE F WY == & e
e e e e e o 1 1 | B o e e = B 28 B A 0 e 1 ) 1 e o o o 500 B e
FFON T AROEE F UF TEeA T4E 2| FHEA % HEEdt W A 8 =9 & e aiems w5

o) A1 F AR T O S H SO AT R T

The paszage focuzesd on
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The merits of market economy
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The need for philanthropy to reduce poverty
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The ill-effects of capitaliam



[Option ID = 10539]
4. The issue of redefining poverty in the Third World.
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